HIZDBENIREE







"'EIE ﬁu 825 ST 6k 71 T
.T-Jl lind

EM#HEE7]

o

m = A& R~Hmm) 7 B B &
D d L L L2 INO i i F
EM20-C20-25-120-2T 20 20 120 | 25 40 | 2RBT | APMT1135 M2.5%6.5 T8
EM25-C25-35-130-2T 25 25 130 35 55 | 2R8T | APMT1135 M2.5%6.5 T8
EM30-C32-44-140-3T 30 32 140 | 44 65 |3R15T| APMT1135 M2.5%6.5 T8
EM32-C32-44-140-3T 32 32 140 | 44 65 |3R15T| APMT1135 M2.5%6.5 T8
EM40-C40-63-150-3T 40 40 150 53 75 |3R21T| APMT1135 M2.5%6.5 T8
EM40-C42-49-150-3T 40 42 150 | 49 75 |3R12T| APMT1604 M4x10 T15
EM50-C42-61-165-3T 50 42 165 61 85 |3R15T| APMT1604 M4x10 T15
EMP#E%% 7]
u]
m = EH AR R~Hmm) 7 B i %
D d L L1 L2 | INO B 4y i F
EMP40-C16-49-65-3T 40 18 65 49 17 | 3R12T| APMT1804 Max10 T15
EMP50-C22-61-75-3T 50 22 75 61 27 |3R15T | APMT1804 Max10 T15
EMP63-C27-63-75-4T 63 27 75 63 38 |4R20T| APMT1804 M4x10 T15
EMP80-C32-52-80-6T 80 32 80 52 38 |BR24T| APMT1604 M4x10 T15
EMP100-C40-75-105 6T 100 | 40 105 75 38 |BR36T| APMT1604 M4x10 T15
EMP125-C40-75-105 6T 125 | 40 105 75 38 |BR36T| APMT1604 Max10 T15

B2



42 1 3T 7] B 5 "'EIE ﬁu
T‘Ji a3

Sy

o EH &R R~Hmm) B &
B S 7R
D d L L1 L2 ING [ i =
ASP50-61-XD22-75-3T 50 | 22 75 61 27 |3R15T M5x12 T20
ASP63-63-XD27-75-4T 63 | 27 75 63 36 |4R20T | APMT1504-T/| M5x12 T20
ASP80-52-XD32-80-6T 80 32 80 52 38 |BRo4r | SPMT120408 | pygyqp T20
ASP100-75-XD40-1056T 100 | 40 | 105 | 75 38 |B6R36T M5x12 T20
EMP. ASP{EEE71#F
Nt —B D:
— 1]
T
| oo b
I] = & L l __tz
|
BT.NO 4 ‘-‘lr
L H,
| b
E AR R~ {mm)
Ay =
D1 L1 H1 B 1 c2 JNEERE
BT40-XD16-45 18 45 17 8 34 20 ®40
BT40-XD22-50 22 50 27 10 42 28 ®50
BT40-XD27-60 27 60 36 12 50 33 ®B3
BT50-XD22-50 2 50 G 10 42 28 ®50
BT50-XD27-60 27 60 36 12 50 33 ®B3
BT50-XD32-75 = 75 38 14 60 40 ®80
BT50-XD40-75 40 75 38 18 80 50 ®100-D125

B3



HuHl

EM#BEE 7] -XTHRE!

B2 e S 5t T B 5

w2 ERRTM) ooz 1 8y 7 p e (L s
D |LY|L2| L 02 o |y =FE
EM40-XT40-53-AP11-3T 40 53 | 105 | 171 | XT40 3 APMT 1135 18 |M25x8.5 T8
EM40XTA40-49-AP16-3T 40 49 | 105 | 171 | XT40 3 APMT 1604 12 Max10 T15
EM50XTA063-AP16-3T 50 B3 | 113 | 179 | XT40 3 APMT 1604 15 Max10 T15
EMB3XT40-T6-AP16-3T 53 76 | 126 | 192 | XT40 3 APMT 1604 18 Max10 T15
EM50XT50-T6-AP16-3T 50 76 | 138 | 268 | XT50 3 APMT 1604 18 Max10 T15
EMB3XT50-88-AP16-3T 653 88 | 152 | 282 | XT50 3 APMT 1604 21 Max10 T15
EMB0XTS0-52-AP1656T 80 a2 | 156 | 286 | XT50 5 APMT 1604 35 Max10 T15
EM100XT50-109-AP16-8T 100 | 108 | 173 | 303 | XT50 5 APMT 1604 48 Max10 T15

EM#B$t71-BT/JTHRE

W 2 ERRTMM) ol a9 7R p T (L
D |[L1|12]| L 2 4 g F
EM40-BT/AJT40-53-184-3T 40 53 | 118 | 184 | XT40 3 APMT 1135 18 M25x6.5 T8
EMA40-BT/AJT40-49-184-3T 40 49 [ 118 | 184 | XT40 3 APMT 1604 12 Max10 T15
EM50-BT/AT40-63-194-3T 50 B3 | 128 | 194 | XT40 3 APMT 1604 15 Mdx10 T15
EM&3-BT/AT40-76-207 -3T B3 76 | 141 | 207 | XT40 3 APMT 1604 18 Max10 T15
EM50-BT/AJTS0-7T6-261-3T 50 76 | 159 | 261 | XT50 3 APMT 1604 18 Mdx10 T15
EM63-BT/AJTS0-88-275-3T B3 88 | 173 | 275 | XT50 3 APMT 1604 21 Max10 T15
EMS80-BT/ATS0-92-279 6T 80 92 | 177 | 279 | XT50 5 APMT 1604 35 Mdx10 T15
EM100-BT/JT50-109-296-6T 100 | 109 | 194 | 296 | XT50 5] APMT 1604 48 Mdx10 T15

B4




LES v A

HLEL.

w2 EARYOM Lyl mrnp | gang |npal e
D | d |l L 11|12 2 4 g F
KLX32-C32-431252T 32 | 32 | 125 | 43 | 65 | 2 | ADMI150308| SOMT090308| 1/5 | M4x9 | T15
KLX40-C4050145-4T 40 | 40 | 145 | 50 | 75 | 4 | ADMT150308| SDMT090308 Mdx9 | T15
KLX50-C42-56-160-4T 50 | 42 | 160 | 56 | 80 | 4 |APMT1504-T | SPMT120408 M5 | T20
= KR )
w2 AR | BE L w| menp | gang |npal e
D | 1|12 | L [EW w24 F
KLX32-MW4-43-125-2T 32 | 43 | 65 | 125 |MW4| 2 | ADMT150308| SDMT090308| 1/5 | M4x9 | T15
KLX40-MW450-145-4T 40 [ 50 |75 [145 [MwW4| 4 | ADMT150308| SDMT090308 Max9 | T15
KLX50-MW456-160-4T 50 | 56 | 80 | 160 |MW4| 4 | APMT1504-T | SPMT120408 M5x10.5|  T20
KLX50-MW5-76-221-4T 50 | 76 | 105 | 221 |MW5| 4 | APMT1504-T | SPMT120408 M5x10.5]  T20
KLX63-MW5-86-251-4T 63 | 86 | 115 | 2561 |MW5| 4 | APMT1504-T | SPMT120408 M5x10.5] T20
KLX63-MW6-86-304-4T 63 | 86 | 115 | 304 |MWB| 4 | APMT1504-T | SPMT120408 M5x10.5]  T20
KLXB0-MW5-06-261-6T 80 | 96 | 125 | 261 |MW5| 6 | APMT1504-T | SPMT120408 M5x10.5]  T20
KLXB0-MW6-06-314-6T 80 | 96 | 125 | 314 |MWB| 6 | APMT1504-T | SPMT120408 M5x10.5]  T20
KLX100 MWB-106-3246T 100 | 106 | 135 | 324 |MW6| 6 | APMT1504-T | SPMT120408 M5x10.5] T20
HHE 7. 24 L >7:24
D_
m = EAR~Hmm) | 7:24 ﬁ e | EETA |TIEH B &
D |t |2 | L | B9 & g4 F
KLX32-XT40-43175-2T 32 | 43 | 85 | 175 | X140 | 2 | ADMT150308 | SDMT090308 | 1/5 | M4x9 | T15
KL X40-XT4050-190-4T 40 | 50 | 93 | 190 | XT40 | 4 | ADMT150308 | SDMTO00308 | 2/12 | M4xa | T15
KL X50-XT40-68-205-4T 50 | 68 | 110 | 205 | X140 | 4 | APMT1504—7 | SPMT120408 | 212 |M5x10.5| T20
KL X63-XT40-73-235-4T 63 | 73 | 140 | 235 | X140 |4 [APMT1504_7 | SPMT120408 | 214 |M5x10.5] T20
KL X50-XT50-76-260-4T 50 | 76 | 133 | 280 | X150 | 4 | APMT1504—7 | SPMT120408 | 2/14 |M5x10.5| T20
KLX63-XT5086-270-4T 63 | 86 | 143 | 270 | XT50 | 4 |APMT1504—7 | SPMT 120408 | 2/16 |M5x10.5| 120
KL X80-XT50-96-280-6T 80 | 95 | 153 | 280 | XT50 | 6 |APMT1504—7 | SPMT120408 | 327 |MBx10.5| T20
KL X100-XT50-106-290-6T 100 | 106 | 1683 | 290 | XT50 | 6 | APMT1504—7 | SPMT120408 | 330 |M5x10.5| T20
KLX32-BT/JT40-43-162-2T 32 | 43 | 97 | 162 |BT/JT40] 2 | ADMT150308 | SDMT090308 | 1/5 | M4x9 | T15
KLX40-BT/JT4050177-4T 40 | 50 | 112 [ 177 |BT/JT40]| 4 | ADMT150308 | SDMT090308 | 2/12 | M4x9 | T15
KL X50-BT/JT40-68-176-4T 50 | 68 | 110 | 176 BTAT40| 4 |APMT1504—7 | SPMT120408 | 212 |MBx10.5| 120
KLX63-BT/JT40-73-206-4T 63 | 73 | 140 | 208 [BT/T40] 4 |APMT1604-7 | SPMT 120408 | 2/14 |M5x10.5| T20
KLX50-BT/JT50-76-258-4T 50 | 76 | 156 | 258 BT/JT50] 4 | APMT1504—7 | SPMT120408 | 2/14 |M5x10.5| T20
KLX63-BT/JT50-86-268-4T 63 | 86 | 166 | 268 BT/T50] 4 | APMT1504-7 | SPMT120408 | 2/16 _|M5x10.5 120
KLX80-BT/JT50-06-278-6T 80 | 95 | 176 | 278 BT/JT50| 6 | APMT1504—7 | SPMT120408 | 3/27 |M5x10.5| T20
KLX100-BT/JT50-106288-6T | 100 | 106 | 186 | 288 BT/JT50| 6 |APMT1504-7 | SPMT 120408 | 330 |M5x10.5] 120

Bs




HuHl

B2 e S 5t T B 5

KLXK$H8E 71-XTHRE!

e

e,
]| Q ',\‘-__h_ :
ST,
e

Eame BfE| BARRSMM)| 7:24 || wEwAR | BETA [
D | L1 | 12| L | B4 |5 APMT180408 | SPMT120408 | 48 4 i F
KLXKB0-XT50-76-2604T 50 | 76 | 133 | 260 | XT50 | 4 2 1044 M5x10.5 120
KLXK63-XT50-86-270-4T 63 | 86 | 143 | 270 | XT50 | 4 2 1244 M5x10.5 120
KLXK80-XT50-96-280 6T 80 | 96 | 153 | 280 | XT50 | 6 3 2146 M5x10.5 120
KLXK100-XT50-106-290-6T | 100 | 106 | 163 | 200 | XT50 | 6 3 2446 M5x10.5 120

T E3
TR ES P 2 e Aﬁﬁ?ﬂig sgmﬁijois i ; E 1¢}J§ =
KLXK50-24 50 24 4 2 4 M5x10.5 120
KLXK63-24 63 24 4 2 4 M5x10.5 120
KLXK80-24 80 24 6 3 6 M5x10.5 120
KLXKK100-24 100 24 B 3 6 M5x10.5 120
KLXK50-34 50 34 4 2 4 M5x10.5 120
KLXK83-34 63 34 4 2 4 M5x10.5 120
KLXK80-34 80 34 6 3 6 M5x10.5 120
KLXK100-34 100 34 6 3 6 M5x10.5 120
KLXK#H%E71-BT/JTHE!
KLXK® #5235

m = B EARHmm)| 7:24 B wETIR | AETA B
D | L1 | 12| L | $E4@ |8 APMT160408 | SPMT120408 | 88 4 B E
KLXK50-BT/JT50-76-258-4T 50 | 76 | 156 | 258 |BT/AT50| 4 2 1044 M5x10.5 120
KLXK63-BT/JT50-86-2684T 63 | 86 | 166 | 268 |BTAT50| 4 = 1244 M5x10.5 120
KLXK80-BT/JT50-96-278 6T 80 | 96 | 176 | 278 |BTAT50| 6 3 2146 M5x10.5 120
KLXK100-BT/AT50-106-288-6T | 100 | 106 | 186 | 288 |BT/AJT50| 6 3 2446 M5x10.5 120

Bs




LES v A

HLEL.

W EFVIHIAZ

IR AEEHEE RABEHS:
i £le
e
"
ap ’7 Iap ap
% | 7 |
aSNEEE—H a,=0.5D a,=0.2D
a,=0.5D a,=1.2D WS SAEIDES gﬁ
HEIFE JE]
HRENH®
A0 TR FEFEHB = )
¥ (mimin) FF P PR
270 [ 240-350 | 6.1 (0.08-0.2 ] 0.2 (6.1-0.3) 0.25 [ 0.2-0.35 )
220 [ 180-300 ) 61 ( 0.08-0.2 ) 0.2 (6.1-0.3) 0.25 [ 0.2-0.35 )
TEEH. W =180 270 [ 200-360 | 61 ( 0.08-0.2 ) 0.2 (6.1-0.3) 0.25 [ 0.2-0.35 )
240 [ 180-350 ) 61 (0.08-0.2 ) 0.2 (6.1-03) 0.25 [ 0.2-0.35 )
240 [ 210-320 ) 61 (0.08-0.2 ) 0.2 (5.1-03) 0.25 [ 0.2-0.35 )
- 200 [ 160280 | 61 ( 0.08-0.2 ) 6.2 (0.1-03) 0.25 [ 0.2-0.35 )
mEH, §E&W 180-280 240 [ 1BO-360 | 61 ( 0.08-0.2 ) 6.2 (01-03) 0.25 [ 0.2-0.35 )
220 | 150-330 ) 61 (0.08-0.2 ) 6.2 (01-063) 0.25 [ 0.2-0.35 )
220 | 180-300 ) 61 ( 0.08-0.2 ) 0.21061-03) 0.25 [ 0.2-0.35 )
18D [ 150-250 ) 61 ( 0.08-0.2 ) 0.2 161-03) 0.25 [ 0.2-0.35 )
AETIER 280-350 220 { 160-340 ) 0.1 6.08-0.2 ) 0.2 1061-03) 0.25 [ 0.2-0.35 )
200 | 120-300 ) 61 (0.08-0.2 ) 0.2161-03) 0.25 [ 0.2-0.35 )
170 ( 120-240 ) 61 (0.08-0.2 ) 0.21061-03) 0.25 [ 0.2-0.35 )
160 { 150-270 ) 61 (00802 0.21061-063) 0.25 [ 0.2-0.35 )
M W =270 150 ( 110-270 | 51 060BD2) 5.2 (0103) 525 (0.2-035)
140 [ 1D0-250 ) 61 (0.08-0.2 0.2 161-03) 0.25 [ 0.2-0.35 )
200 | 120-240 ) 61 (00802 0.21061-03)
wHek 180-250 180 [ 120-300 | 01 [ 5.0B-0.2) 0.2 [5.1-03 )
H
00— 5.2 [G0B-04] [
HE® ‘ = A0- 0.2 [ D.0B-0.4 ) |
e =
B HESEVIHIAE
BA gifd BB AE% BC EiEARES®
L5 A
Ae —
N Ap / Ap Ap
25 A,0.50
5 5 2,010
A =050 Bk A=150 [ &Rk ) £ L
Boktzmm (#14) 1.00 {8 ) Ane LB SR
E &3 e
i T = 7 T4
TR eEHB FIEIEEE (m/min} WA TR (mm/z)
80 { 50-90 ) 0.25 (0.1-0.35) A
SRR . SR =180 90 { 70-120) 0.3 (0.15-0.4) B
90 { 70-120) 0.3 (0.15-0.4) C
70 { BO-100) 0.2 (0.1-0.35) A
SmE. Sal 180-280 80 { 60-120 ) 0.25 { 0.15-0.35 ) B
90 { 70-120) 0.25 { 0.15-0.35 ) C
50 { 40-80 ) 0.15 { 0.08-0.25 ) A
ﬁ"ﬁIE—%ﬂ SE0-350 60 ( 50-100 ) 0.2 ( 0.1-0.35 ) B
70 (50-100) 0.2 (0.1-0.35) C
70 { 50-100) 0.2 (0.1-0.35) A
st 180-250 80 { 60-120 ) 0.25 (0.15-0.35 ) B
90 { 80-120) 0.25 { 0.15-0.35 ) C

B7







REGET &Y

i—- L1 -
'O _
DIT?\\ y =
_Q.I 58
" =
PR o =]
- L RS 3 5 A A
B2
2 = nslEs E AR~ {mm) Tp RS B &
D d a | L1 || L 42 4 i F
AHU €10-10-100 1 A |10]10] 9 |25]| - |100 JDMT 100308 M2.5x5 T8
£12-12-130 1 | A |12 ]12] 9 |25 | - |130 JDMT 100308 M2.5x5 T8
£12-13-130 1A 12 12| 9 |25]| - |130 JDMT 100308 M2.5x5 T8
C16-16-120 2 | B |16 | 18 | 9 | 40 | 100|120 JDMT 100308 M2.5x6 T8
C16-16-160 2 | B |16 | 18| 9 | 50 | 115|160 JDMT 100308 M2.5x6 T8
C16-16-180 2 | B |16 | 18| @ | 60 | 90 | 180 JDMT 100308 M2.5x6 T8
C16-16-200 2 | B |16 | 18 | 9 | 60 | 100|200 JDMT 100308 M2.5x6 T8
£20-20-120 2 | A |20 | 20| 9 |50 | - |120 JDMT 100308 M2.5x6 T8
£20-20-160 2 | A 20| 20| @ |60 | - |180 JDMT 100308 M2.5x6 T8
£20-20-200 2 | B |20 | 20| 9 | 70 | 100|200 JDMT 100308 M2.5x6 T8
£25-25-160 2 | A |25 |25 |14 |70 | - |180 JDMT 150508 M4x9 T15
£25-25-200 2 | B |25 | 25 | 14 | 70 | 100 | 200 JDMT 150508 M4x9 T15
C25-25-250 2 | B |25 | 25| 14 | 80 | 115 | 250 JDMT 150508 M4x9 T15
£25-25-300 2 | B | 25 | 25 | 14 | 80 | 165 | 300 JDMT 150508 M4x9 T15
£32-32-160 2 | A |3 | 3 | 14|48 | - |180 JDMT 150508 M4x9 T15
£32-32-200 2 | B |3 | 382 | 14 | 48 | 100 | 200 JDMT 150508 M4x9 T15
£32-32-250 2 | B |3 | 3| 14|48 | 115|250 JDMT 150508 M4x9 T15
£32-32-250 3| B |3 |3 | 14|48 | 115|250 JDMT 150508 M4x9 T15
£32-35-160 2 | A |3 |3 |14 |60 | - |180 JDMT 150508 M4x9 T15
£32-35-200 2 | A |3 |3 | 14|60 | - |200 JDMT 150508 M4x9 T15
£32-35-250 2 | A |3 |3 |14 |60 | - |250 JDMT 150508 M4x9 T15
£32-35-300 2 | A |3 | 3 | 14 |60 | - |300 JDMT 150508 M4x9 T15
£32-35-350 2 | A |3 |3 |14 |60 | - |350 JDMT 150508 M4x9 T15
£32-35-400 2 | A |3 | 3|14 |60 | - |400 JDMT 150508 M4x9 T15
£32-35-450 2 | A |3 | 3] 14|60 | - |480 JDMT 150508 M4x9 T15
£32-35-500 2 | A |3 | 3 | 14 |60 | - |500 JDMT 150508 M4x9 T15
£32-35-160 3| A |3 |[3]14|80]| - |160 JDMT 150508 M4x9 T15
£32-35-200 3| A |3 3|14 | - [200 JDMT 150508 M4x9 T15
£32-35-250 3| A |3 |a|14]|60| - |25 JDMT 150508 M4x9 T15
£32-35-300 3| A |3 |3|14]60]| - 300 JDMT 150508 M4x9 T15
£32-35-350 3| A |3 |3|14]60 | - |350 JDMT 150508 M4x9 T15
£32-35-400 3| A |3 |a]|14]60| - [400 JDMT 150508 M4x9 T15
£32-35-450 3| A3 |a]|14]60]| - [450 JDMT 150508 M4x9 T15
£32-35-500 3 | A |3 |3]|14]60 | - |500 JDMT 150508 M4x9 T15
£32-40-200 3| A4 |32]|14]60]| - |200 JDMT 150508 M4x9 T15
£32-40-250 3| A |a |3 ]| 14|60 - [250 JDMT 150508 M4x9 T15
£32-40-300 3| Ala |32]14]60 | - [300 JDMT 150508 Max9 T15

EEHINA

Bo



iﬁ ﬁu BT )
EMR&Z 825t 7]

[ g[ S | = A
- L1
L
. . TEr e E—
2 e L1
&% B
L
a = nslmT F AR {mm) NpES B 14
= p|os|d ||| L B e |EWHR|EF
EMR C25-5R30-150 2 | A | 30|20 25| 35| - |150 | RPMW1003MOE ¥Y-5R | T15
£255R30-200 2 | A |30 |20 25|35 | - |200|RPMWI003MOE Y-5R | T15
C32-5R35-200 2 | A |35 | 25| 32| 48 | - |200|RPMW1003MOE Y-5R | T15
C32.5R35-250 2 | A |35 |25 32 | 48 | - |250 | RPMWID03MOE | (715M4x9 | Y-5R | T15
C32.5R35-350 2 | A |35 |25 32|48 | - |350 | RPMWID03MOE | (JE4E)M4x9 | Y-5R | T15
£325R35-200 3 | A |35 |25 32|48 | - |200|RPMW1D03MOE ¥Y-5R | T15
C32.5R35-250 3 | A | 35|25 32|48 | - |250 | RPMW1003MOE Y-5R | T15
£325R35-300 3 | A |35 25| 32|48 | - | 300 | RPMW1003MOE Y-5R | T15
C25-6R32-150 2 | A |32 |20 25|42 | - |150| RPMT1204MOE Y-6R | T15
C25-8R32-200 2 | A [ 32202542 ]| - |200] RPMT1204MOE Y-6R | T15
C32-6R40-200 3 | A |40 |28 | 32| 48 | - |200| RPMT1204MOE ¥-6R | T15
C326R40-250 3 | A |40 | 28| 32 | 48 | - |250 | RPMTI204MOE | (71E)M4x9 | Y-6R | T15
C32-6R40-300 3 | A |40 | 28| 32| 48 | - |300| RPMT1204MOE | (FE4E)M4x9 | Y-6R | T15
C32-8R50-150 4 | A |50 38|32 |48 | - |150| RPMT1204MOE Y-6R | T15
C32-6R50-200 4 | A | 50|38 32|48 ]| - |200] RPMT1204MOE Y-6R | T15
€32 8R-50-250 4 | A |50 |38 32|48 | - |250| RPMT1204MOE ¥-6R | T15
EHRHIAR
o
EMRT& 3 im#t 7]
H oA
L
- T a
.g":.gf
L
A = T F AR {mm) SRS B 14
= ™Mb lps|d 1|2 L = e |JEH|EF
EMRT C25-5R30-150 2 | A |30 20| 25|35 | - |150| RPMT1DT3MOE Y-58 | T15
C25-5R30-220 2 | A |30 20|25 35| - [200| RPMT10T3MOE Y-5R_| Ti5
C32-5R35-200 2 | A |35 25| 32|48 | - |200| RPMT10T3MOE Y-5R | T15
C32.5R35-250 2 | A |35 25 32 48 | - |250| RPMTIDISMOE | (Z1FM4x9 | Yo5R | T15
C32-5R35-300 2 | A | 35| 25| 32|48 | - |300] RPMT10T3MOE | (E4E)M4x8 | Y-5R | T15
C32-5R35-200 3 | A |35 |25 |32 |48 | - 200 RPMT10T3MOE Y-5R | T15
C32-5R35-250 3 | A |35 | 25| 32|48 | - |250| RPMT10T3MOE Y-58 | T15
£32-5R35-300 3 | A [ 35 | 25|32 48| — [300] RPMT10T3MOE Y-5R | T15
C25-6R32-150 2 | A |32 | 20| 25|42 | - |150| RPMI1204MOE Y-6R | T15
C25-6R32-200 2 | A |32 20| 25|42 - |200| RPMT1204MOE Y-6R_| T15
C25-6R32-250 2 [ A |32 |20 25| 42 | - [250] RPMT1204MOE Y-6R | T15
C32-6R40-200 3 | A |40 | 28| 32 |48 | - |200| RPMI1204MOE Y-6R_| T15
C32-6R40-250 3 | A |40 | 28 | 32 | 48 | - |250| RPMT1204MOE | (FAAIMAX8 "y sn | T15
£32-6R40-300 3 | A |40 |28 | 32 | 48 | — |300| RPMT1204MOE_| UE#IMAXS | v gn | T15
C32-6R50-150 4 | A | 50| 38| 32|48 | - |150| RPMT1204MOE Y-6R | T15
C32-6R50-200 4 | A | 5038|3248 | - |200| RPMI1204MOE Y-6R | T15
C32-6R50-250 4 | A | 5038|3248 | - |250| RPMT12D4MOE Y-6R | T15
EMRHEZR

B 1o



R Lk T1 51 iﬁ ﬁu
T ASlmrb] |

#E
=l
7
H
EH AR ~{mm)
ull = T# TIFRE
= & R D d L1 L2 L FES
RCF £20-10R-150 2 10 20 20 18 60 150
£20-10R-200 2 10 20 20 18 70 200
10R- . 10 20 25 18 60 150
C25:10R-160 ZCEW100CE
£25-10R-200 & 10 20 25 18 70 200 e
£25-10R-250 2 10 20 25 18 80 250
£32-10R-250 2 10 20 32 18 90 250
£32-10R-300 2 10 20 32 18 110 | 300
£25-12.5R-150 PN 25 25 sl 60 150
£25-12.5R-200 2 | 125 25 25 18 70 200
ZCEW125CE
£32-12.5R-200 2 | 125 25 32 23 80 200 e
£32-12.5R-250 2 | 125 25 32 23 90 250
£32-12.5R-300 2 | 125 25 32 23 110 | 300
£32-15R-150 3 15 30 32 28 60 150
£32-15R-200 2 15 30 32 28 70 200
ZCEW150CE
£32-15R-250 2 15 30 32 28 80 250 JOEWA S0SE
£32-15R-300 2 15 30 32 28 110 | 300
£32-15R-350 2 15 30 32 28 110 | 350
BfA: HxAk
_ EH A& R~Hmm)
71 5 g B = 7 I F
R A B T
ZCEWI100CE 10 18 103 | 474 M3 T8
ZCEWI00SE 10 16.6 8.3 | 424 M3 T8
ZCEWI125CE 125 23 123 | 8.10 Ma T15
ZCEWI25SE 125 | 20.8 9.3 | 5.40 Ma T15
ZCEWI50CE 15 28 151 | 7.59 M5 T20
ZCEWIS0SE 15 258 | 121 | 7.09 M5 T20
_ EH AR R ~H{mm)
71 F g B x
d d1 8
RPMTOST2MOE 8 3.4 2.78
RPMT10T3MOE 10 44 3.18
RPMT1204MOE 12 44 4.76

B11



= 1 L £
-:E-J:E-ﬁu 5L ok 71 5]

EMRT&FXint /]

a a 1
(] o)
" . SR
fy ﬁ\ - — L
@ >
m 2 % ezl Npme
R D d L1 L2 L
RCFL C20-10R-150 2 10 20 20 18 60 150
C20-10R-200 2| 10 20 20 18 70 | 200
£25-10R-150 2 | 10 20 25 18 60 150 R nCE
£25-10R-200 2| 10 20 25 18 70 | 200 ZCEW100SE
C25-10R-250 2 10 20 25 18 80 | 250 CPMTO080204
C32-10R-250 2| 10 20 32 18 115 | 250
C32-10R-300 2| 10 20 32 18 115 | 300
£25-12 5R-150 2| 125 | 25 25 23 60 150
£25-12.5R-200 2 | 125 | 25 25 18 70 | 200
£32-12.5R-150 2 | 125 25 32 23 70 150 ZCEW125CE
ZCEW125SE
£32-12 5R-200 2| 125 | 25 32 23 80 | 200 s
£32-12 5R-250 2| 125 | 25 32 23 90 | 250
£32-12.5R-300 2 | 125 | 25 32 23 105 | 300
C32-15R-150 2| 15 30 32 28 60 150
C32-15R-200 2| 15 30 32 28 70 | 200 SR EE
C32-15R-250 2| 15 30 32 28 80 | 250 ZCEW150SE
32-15R-300 2 | 15 30 32 28 100 | 300 = illlalise
C32-15R350 2| 15 30 32 28 100 | 350
iEA: BTl
73 4k A = 2 Ty 8 u 5 ¥
R A B T
ZCEWI00CE 10 18 | 103 | 474 M3 T8
ZCEWI00SE 10 166 | 83 | 424 M3 T8
ZCEWA25CE 125 23 | 123 | &1 M4 T15
ZCEW125SE 125 | 208 | 93 5.4 M4 T15
ZCEWAS0CE 15 28 | 151 | 7.59 M5 T20
ZCEWI50SE 15 | 258 | 121 | 7.00 M5 T20
CPMT080204 ?}]ﬁ %1 - 04 | 7.04 = 2.38 M2.5 T8
CPMTO090308 : 05 | 9525 | - 3.18 M4 T15

B2



REGET &Y

_J
L1 ] E %J
@. i
1=
m = EA& R~ {mm) T me B 4
D d L1 L 2 42 i F
BF C12-4R-100 8 12 28 100 F3200-D08 BF-D08 T8
C12-4R-130 8 12 50 130 F3200-D08 BF-D08 T8
C12-4R-140 8 12 65 140 P3200-D08 BF-D08 T8
C12-4R-150 8 12 65 150 F3200-D08 BF-D08 T8
C10-5R-100 10 10 28 100 F3200-D10 BF-D10 T15
C105R-110 10 10 28 110 F3200-D10 BF-D10 T15
C12-5R-130 10 12 32 130 P3200-D10 BF-D10 T15
C12-5R-150 10 12 32 150 P3200-D10 BF-D10 T15
C12-6R-120 12 12 32 120 P3200-D12 BF-D12 T20
C12-6R-130 12 12 32 130 F3200-D12 BF-D12 T20
C12-6R-150 12 12 32 150 F3200-D12 BF-D12 T20
C12-6R-160 12 12 32 160 F3200-D12 BF-D12 T20
C16-6R-150 12 16 32 150 P3200-D12 BF-D12 T20
C16-8R-120 16 18 65 120 F3200-D16 BF-D16 T20
C16-8R-150 16 16 65 150 F3200-D16 BF-D16 T20
C16-8R-180 16 16 65 180 F3200-D16 BF-D16 T20
C16-8R-200 16 16 65 200 P3200-D18 BF-D16 T20
C20-10R-150 20 20 35 150 P3200-D20 BF-D20 T20
£20-10R-200 20 20 a0 200 P3200-D20 BF-D20 T20
£25-10R-150 20 25 100 150 F3200-D20 BF-D20 T20
£25-10R-200 20 25 100 200 F3200-D20 BF-D20 T20
£25-10R-250 20 25 100 250 F3200-D20 BF-D20 T20
£25-12.5R-150 25 25 45 150 F3200-D25 BF-D25 T20
£25-12 5R-200 25 25 100 200 F3200-D25 BF-D25 T20
£25-12 5R-250 25 25 100 250 P3200-D25 BF-D25 T20
£32-12 5R-200 25 32 100 200 F3200-D25 BF-D25 T20
£32-12.5R-250 25 32 100 250 F3200-D25 BF-D25 T20
C32-16R-200 32 32 100 200 P3200-D32 BF-D32 T32
C32-16R-250 32 32 100 250 P3200-D32 BF-D32 132
£32-16R-300 32 32 100 300 F3200-D32 BF-D32 132
B EREAE
_ EH AR R ~F{mm)
nl
T1 R tg B & = = 3 S "
P 3200-D10 10 5 5 25 4
P 3200-D12 12 6 6 25 5
P 3200-D16 ' 16 8 6 3 5
P 3200-D20 20 10 6 3 5
P 3200-D25 25 12.5 9 4 6
P 3200-D30 30 15 10 5 8
P 3200-D32 32 16 10 5 8

B13



=EGET &Y

EuHl

AJU RO EEET)

L]
= @]
I A
— 4 L
" g—
— — -
/_,/m f = {
- | |
- D [
] = o A
& @] =
5 L1
L) rl
m = 7 & EH A R~Hmm) 71 F g pme [
BIR|D|d|uv|jLe|lL| A B s | |F
AJU £08-08-100 1A 8| 8 |30 - |100 M2.5 T8
£10-10-100 1lal10| 10|30 | - [100| B.35 | 238 CCMT 060204 M2.5 T8
£10-10-130 1A 10|10 30| - |130 M2.5 8
£12-12-130 1Al 12|12 |30 | - |130| 7.4 | 238 CPMT0802047 M2.5 T8
C16-16-120 2|A| 16| 16| 35 120 M2.5 8
C16-16-150 2|A| 16| 16 | 35 150 | .35 | 2.38 CCMTOB0204 M2.5 8
C16-16-180 2|B| 16| 16| 35 | 90 | 180 | 7.94 CPMT 0802047 M2.5 T8
C16-16-200 2|B| 18| 16 | 40 | 100 | 200 M2.5 T8
C20-20-150 2|1A | 20| 20 | 50 - | 150 | B.35 238 CCMTOB0204 M2.5 T8
C20-20-200 2|(B| 20| 20| 60 |100|200|9525 | CPMT 0802047 M3.5 T15
£25-25-150 2|A| 25| 25|80 - |150 (¥ T15
9.525 CPCMT090308
£25-25-200 2|B| 25| 25|70 |100|200| 5 | 318 CPMT 1203087 M4 T15
£25-25-250 2|B| 25| 25| 80115250 (¥ T15
£32-32-200 2| B| 3 | 3| 60 |100|200 - CPMT120408 M5 T20
£32-32-250 2|B| 32|32 |70 |115]250 |,z g | 476 CPMT 1604087 M5 T20
£32-32-300 2B 32 | 3| 80| 165|300 1604302 M5 T20
£32-40-200 21A| 40| 32|50 | - |200 CP?EF&BS%ZUSZ M5 T20
15.875
£32-40-250 2|A|40 |82 |50 | - |250| 000 | 476 CPMT 1904087 M5 T20
£32-40-300 2| A| 40| 32| 50 | 185|300 19043027 M5 T20
_ CPMT090308
£32-50-200 3| A|50|3 |50 200 | g 5o5 | 318 RS M3.5 | T15T20
£32-50-250 3|A|50 |3 |80]| - |280]| 127 1 2043066 M T15T20
15.875| 476 CPMT1604082Z
£32-50-300 3|A|50 |3 |5 | - 300 1604307 M5 T15T20
| E=2rsilis
L) rl
2 = 7] B EH R R~Hmm) 71 F g 7 e B 1
HI=| D d | L1 L A B s | |F
AJU £15-16-120 2lA| 18 | 15 | 35 | 120 M2.5 T8
£15-16-150 2|A| 18 | 15 | 35 | 180 | B.35 38 CCMTOB0204 M2.5 8
£15-16-180 2|al 18 | 15 | 40 | 180 | 784 | © CPMT080204Z M2.5 T8
£15-16-200 2|A| 18 | 15 | 40 | 200 M2.5 T8
£19-20-150 2|A| 20 | 19 | 35 | 120 | @35 CCMT 060204 M2.5 T8
238
£19-20-200 2|A| 20 | 19 | 40 | 200 | 9525 CPMT0802047 M3.5 T15
£24-25-150 2|A| 25 | 24 | 35 | 130 (¥ T15
9.505 | ,4g | CPCMT090308 T =
£24-25-200 2|A| 25 | 24 | 85 | 280 | "% ; CPMT 1203087
£24-25-250 2|A| 25 | 24 | 40 | 230 M4 T15

B4




REGET &Y

HLEL.

" L
i ol L2 : o A
L)
- % . : |
- 2 = i
\ @&‘ é’\ D]:%(hu = = ] < A
@

m 2 % 2| E EARRF{mm) — Ep & #
A|A|I=R|Dp|d|L|Le|lL . B ERF
ASJ 2020150 113|A|20]20 |35 | - |150| ADMT100308L | ACMT100308R | M2.5 | T8
€20-20-200 1|3 |B| 20|20 | 35100 |200 | ADMT100308L | ACMT100308R | M2.5 | T8
2020220 103|B|20|20|35]|110|220 | ADMT100308L | ACMT100308R | M2.5 | T8
2525150 113|A|25|25 |40 - |150| ADMT12T308L | APMT12T308R | M3 | T8
2525200 1|3|B| 25|25 |40 |100|200| ADMT12T308L | APMT12T308R | M3 | T8
2525250 1|3|B|25|25|40 | 115|250 | ADMT12T308L | APMT12T308R | M3 | T8
2525300 1|3|B| 25|25 |40 165|300 | ADMT12T308L | APMT150408R | M3 | T8
3232150 13|A|3]32 |50 | - |150| APMT160408L | APMT150408R | M4 | T15
3232200 13 |B|32|32|50 |100|200| APMT160408L | APMT150408R | M4 | T15
3232250 1]3|B|8|32|50 |115|250 | APMT160408L | APMT150408R | M4 | T15
3232300 1(3|B| 32|32 |50 |165|300| APMT160408L | APMT150408R | M4 | T15
3232350 1|3 |B|32|32 |50 |165|350 | APMT170408L | APMT150408R | M4 | T15
3235150 113|A|3 32|50 | - |150| APMT170408L | APMT150408R | M4 | T15
3235200 1|3|A|35 |3 |50 | - |200] APMT170408L | APMT150408R | M4 | T15
3235250 1|3 |A |3 |32 |50 | - |250| APMT170408L | APMT150408R | M4 | T15
3235300 1]3|A|3 |3 |50 | - |300] APMT170408L | APMT150408R | M4 | T15
C40-40-150 1|4 |A|40]40 |55 | - |150| APMT190508L | APMT150408R | M4 | T15
C40-40-200 1|4 |B|40]|40|55]|100|200 | APMT190508L | APMT150408R | M4 | T15
C40-40-300 1|4 |B| 40|40 |55 165|300 APMT190508L | APMT150408R | M4 | T15
C40-40-400 1|4 |B| 40|40 |55 165|400 | APMT190508L | APMT150408R | M4 | T15

TJH‘H% L1 L2=d %ZER_H:”]) a1 o1

ADMT150308 15 9.525 3.18 3.91 4.5 15°

APMT160408 15.875 12.7 4.76 3.63 5.56 [l

Bis

Sy




EuHl

=EGET &Y

ASRK#HLA I 8% 7]

N Y b
oL+
"ﬁf L 2
. EERR~Hmm) B #
= 7% RS
D d L1 L 92 4 I F
ASR C16-16-120 2 | 18 | 16 | 40 | 120 M2.5x6 T8
C16-17-120 2 17 16 27 120 M2.5x6 18
C16-16-160 2 [ 18 | 16 | 50 | 160 M2 5x6 T8
C16-17-160 2 [ 17 168 | 27 | 460 M2.5x6 T8
£20-20-120 2 | 20 | 20 | 50 | 120 M2.5x6 T8
C20-20-160 2 20 20 50 160 M2.5x6 18
£20-21-160 2 [ 21 | 20 | 27 | 160 M2.5x6 T8
£25.25-160 3 | 725 |25 | 60 | 160 | EFNWOBOSTN-8 M2.5x6 T8
£25-25-200 3 | 25 | 25 | 70 | 200 | EPMTOBO3TN-8 M2.5x6 T8
£25-26-200 3 |26 |25 [ 50 | 200 M2.5x6 T8
£32-32-160 4 | 32 | 32 | 70 | 180 M2.5x6 T8
£32-33-160 4 | 33 | 32 | 80 | 180 M2.5x6 T8
£32-32:200 4 | 3 | 82 | 115 | 200 M2.5x6 T8
£32-33-200 4 | 33 |32 [ 70 | 200 M2.5x6 T8
£32-35-200 4 | 3 | 32 | 50 | 200 M2.5x6 T8
£32-40-160 4 | 40 | 32 | 50 | 180 M2.5x6 T8
£32-40-200 4 | 40 | 32 | 50 | 200 M2.5x6 T8
ERHINE
* A—L
AIXKiHLE I EET)
3 )
/ D =
|
s o —a--—
. = " oL4
¥ <l
o L
m = T EH & R~FH{mm) pme i &
D|d|al|luwt]L w4 | E W | F
AJX £20-20-180 2 | 20| 20 | 1.5 | 100 | 180 | JOMT080320ZZSR | M3x7 Y-4R T8
£20-22-180 2 | 22| 20 | 1.5 | 30 | 180 | JOMT08032077SR | M3x7 Y-4R T8
£25.25-200 2 | 25| 25 | 2 | 120 | 200 | JDMWOST3207DSR| M3.5%9 Y-4R T15
£25.28-200 2 | 28| 25 | 2 | 40 | 200 | JDMWOST3207ZDSR| M3.5%9 Y-4R T15
£32-30-200 2 | 30| 3 | 2 | 120 200 | JDMW1204207DSR| M4x10 Y-4R T15
£32.32.200 2 | 32| 3 | 2 | 120 200 | JDMW1204207DSR| M4x10 Y-4R T15
£32-35-200 2 | 3 | 38 | 2 | 70 | 200 | JDMW1204207DSR| M4x10 Y-4R T15
C42-40-250 3 | 40 | 42 | 2 | 130 | 250 | JDMW1204207DSR| M4x10 Y-4R T15
£42-50-200 3 | 50 | 42| 2 | 50 | 200 | JDMW1405207DSR| M5x11 Y-4R T20
C4263-200 4 | 83| 42 | 2 | 50 | 200 | JOMW140520ZDSR| M5x11 Y-4R T20
ER=ENR

B 16



R Lk T1 51 iﬁ ﬁu
T ASlmrb] |

®© 4
%J
EHA& R~F{mm}) [T =
w2 i NERS &
D d | d1 | 11| 2| L e I F
ATS £25-25-11-110 2 |25 | 25 | 125 | 11 | 21 | 110 | cCMTOB0204 M2.5 T8
£32-32-14-120 2 |3 | 32| 16| 14 | 30 | 120 | CPMT080204 M2.5 T8
£32-40-18-130 4 |40 | 32 | 20 | 18 | 32 | 130 | COMT09T308 M4 T15
£32-50-22-140 4 |80 | 32 | 28 | 22 | 39 | 140 | cOMT120408 M5 T20
[
:@ FAER
K
] = al
I/ 4
Lz
L -
W e TR ﬁ E & R~ {mm) Spme B &
BARYT b | a |at ||| L - 74 I F
KTXZ KTXZ1221 12 2 21|12 |10| 9 | 20 | 74 | CPGTO50204 | M2.5%6 T8
KTXZ1425 14 4 |25 |16 |12 | 11 | 34 | 82 | COMT080204 | M2.5%6 T8
KTXZ1832 18 4 |3 |16 |15 | 14 | 40 | 90 | COMT000304 | M4x8 T15
KTXZ2240 22 4 |40 | 25 | 19 | 18 | 53 | 108 | COMTO0OTR04 | M4x8 T15
KTXZ2850 28 4 |50 |32 | 25| 22 | 64 | 124 | COMT120404 | M5x10 T20
= BEER
) ) : 0
Lz
- =
TR | & EH AR R~ {mm) HE - B &
B= = B | DRES
EART | # | b |a1 |11 |2 L = - 74 I F
KTXM KTXM1221 12 2 21110 9 |31 |100| MW2 | CPGT050204 | M2.5x8 T8
KTXM1425 14 4 | 25 | 12 | 11 | 36 | 105 | MW2 | COMT080204 | M2.5x6 T8
KTXM1832 18 4 | 32|15 | 14 | 41 | 110 | MW2 | COMT000304 | M4x8 T15
KTXM2240 22 4 | 40 | 19 | 18 | 54 | 140 | MW3 | COMTO09TS04 | M4x8 T15
KTXM2850 28 4 150 |25 |22 | 66| 175 | MW4 | COMT120404 | M5x10 T20

B17



= 1 L £
-:E-J:E-ﬁu 5L ok 71 5]

CHiZ & L FL8t 7]

M”’ﬂ.
V

- i g -

7] B AR R~H{mm}) B #
LS 2 TRRE

D | D1 | a |L1|L 1 4 R F

CH £8-14.25 1 14 | 29 | 25 | 21 | 108 COMTOB0204 M2.5 T8
£10417.5:25 2 |175| 53| 25 | 26 | 115 COMTOB0204 M2.5 T8

£1220-25 2 |20 | 78| 25 | 30 | 120 COMTOB0204 M2.5 T8

£14-23-25 2 | 23 |108]| 25 | 345 | 126 COMTOB0204 M2.5 T8

£16-26-32 2 | 26 | 85| 32 | so | 132 CPMT090308 M3.5 T15

£18-29-32 2 | 20 |115]| 32 | 435 138 CPMT090308 M3.5 T15

£20-32-32 2 | 32 |145]| 3 | 59 | 144 CPMT090308 M3.5 T15

TP30° , 45° ,60° EHiAEIBIH 7]

7] EHA R~Hmm) [ S
B= 2 ARBE
D D1 d L 9 02 & g F
TP30 C25-40-120 2 40 | 24 | 25 | 120 | 30 TPMN1603 M6 L4
TP45 £20-20-120 1 20 | 3 | 20 | 120 | 45 TPMN1603 M5 L4
£20-32-120 2 32 | 12 | 20 | 120 | 45 TPMN1603 M6 L4
C25-50-150 3 50 | 22 | 25 | 150 | 45 TPMN2204 M8 L5
TP60 £25-40-120 2 40 | 24 | 25 | 120 | 60 TPMN1603 M6 L4
C32-66-150 3 55 | 22 | 32 | 150 | B0 TPMN2204 M8 L5

B1s



REGET &Y

i B L #t
‘;ﬁ!’[]J
7] EH AR R~ {mm) _ B &
U= % TERS A
D d L1 L =74 I F
EM45 £20.25-110 2 25 | 1905 | 45 | 110 SPMWO090304 M4 T15
£20.25-110 2 25 20 45 | 110 SPMWO090304 M4 T15
£25-25-150 2 25 20 45 | 150 SPMWO090304 M4 T15
£25-30-150 2 30 25 45 | 150 SPMWO090304 M4 T15
o
SSK45° &FAEH7)
L -l
F
- —®— Hesmsssssaa - -
L
Sl BT
. ¢
_ 7] E AR R~H{mm) - . (i
D d L 2 | ffF
S5K £20-20-130 1 20 20 130 0-20 ADNT160308 M4 T15

SSP45° E{IBIA 7]

- ) ]
@ L il
7 EHZARR~Hmm) " B &
Al = £ FEsEE|l JIRBES
D|D1|d|a|L1]|L 2 | ffF
SSP £20-20-130 1 | 20| 0 |20 |11.3] 20 |130| 0-20 |TOMX15T308E-7ZR| M4 T15

B1o



=EGET &Y

HuHl

TCMA45° 8l 7]

F
L
: v R i
@ : 2 ' L =
e ERRF{mm) R i #
= = =T
D D1 d L Ba | fF
TCM C16-20-110 20 3 16 110 TCMT16T304 M4 Ti5
I
SBIE! Bl 7]
F
= @/}\/\\x % ________ i
85 e
/ - | ;
® .~ b L
) = E KRR {mm) e i i #
LU= fAER JIFEES
D D1 d L By | fF
SB €16-16-100 16 15 16 100 15-16 | SPMW090304 M4 Ti5
TPEFEXERA%T
_—— = Rl T — .,
!, / @
j (Ll
L
w2 7 EARR T (mm) fpme B
# | D d a | L1 L SREE| B F
TP C20-2000 2 20 20 2] 30 Q0 TEMN110304 M5 L3
C20-25-100 2 25 20 2] 30 100 TEMN110304 M5 L3
C20-32-130 2 32 20 9 30 130 TEMN 160308 MB L4
C20-40-150 3 40 20 14 40 150 TEMN 160308 MB L4
C25-40-130 3 40 25 14 40 130 TEMN160308 M5 L4
C25-40-150 zl 40 25 14 40 150 TEMN 160308 M5 L4
C25-40-200 3 40 25 14 40 200 TEMN 160308 Mb L4
C32-40-150 3 40 32 14 40 150 TEMN 160308 MB L4
C32-40-200 3 40 32 14 40 200 TEMN160308 M6 L4
C20-50-150 3 50 20 14 40 150 TEMN 160308 Mb L4
C2550-150 3 50 25 14 40 150 TEMN 1560308 Mb L4
C25-50-200 3 50 25 14 40 200 TEMN 160308 MB L4
C3250-150 3 50 32 14 40 150 TEMN1560308 M5 L4
C32-50-200 3 50 32 14 40 200 TEMN 160308 Mb L4
C2063-150 4 53 20 20 40 150 TEMN220412 M8 L5
C2563-150 4 63 25 20 40 150 TEMN220412 M8 L5
C3263-150 4 53 32 20 40 150 TEMN220412 M8 L5
C3263-200 4 53 32 20 45 200 TEMN220412 M8 L5

B 2o




o HiEHEEINETIFFFMR AT A F
oI,
o IR TIRATIAEREERS L,
(FMRERFIFIE 7 REEER L TIBR M.
o 124EEAMS, M10. M12, M16M
Fl £
s EFREESMBITERKEY, #E
HEAEM, KFEBBEATER.

SEE. £R4
HH %E?‘Emo H'""-‘

eARASy . JEFFAYIRSIHE QR
AT RGRMET BT
A B R R M

IR BEEEaE, (RETA 7
T SR EES,



HuHl

FABERK L 70 7 #2378 71 S

REEMES ]

[
=
r
E AR R~H{mm)
n = JRRE T8 E=
= oD oD L a, MD
QCH A16-XPHT16-M10 18 17 28 18 10 XPHT16R0803-GM 2 0.036
20-XPHT20-M12 20 19 30 20 1P XPHT20R10T3-GM z 0.051
25 XPHT25-M12 25 24 35 25 12 XPHT25R1204-GM 2 0.071
30-XPHT30-M16 30 29 45 30 18 XPHT30R1506-GM 2 0.140
32-XPHT32-M16 32 30 45 32 18 XPHT32R1606-GM 2 0.162
i % 5 R F EAR Fmm)
. TR 5 a8 =
TIRER w 3"’/ / ) L|od|R| S|«
oD
©16 IB0M2.5x6.5 | WTO7P - - XPHT16R0803-GM | 16 | 3.1 3.18| o°
®20 I6OM3.5%08TT | WT10IP = - XPHT20R10T3-GM | 20 | 4.0| 10 |3.97| o°
®25 160M4x10 - WT158 = 2 XPHT25R1204-GM |25 | 4.7 [12.5|4.76| o°
30 IBOM5x13.2 - - WT20IT Ntﬁ% XPHT30R1506-GM | 30 | 5.8 | 15 [6.35| 11°
®32 I60M5x13.2 = = WT20IT @ # | XPHT32R1606-GM |32 | 58| 16 |6.35| o
SH LA,
KL 71k (SR )
] |||||| || '||| =
‘III il || %
||||||||| il
AR R~ {mm)
n = JREE T8 E=
i oD ®D1 L MD
QCH 25-SDMT09-M12-02 25 24 35 12 SDMTO9T312-DM 2 0.088
-30-SDMTO09-M16-03 30 29 45 18 SDMTO9T312-DM 2 0.176
32-SDMT12-M16-02 32 30 45 18 SDMT120412-DM 2 0.175
35-SDMT12-M16-02 35 30 45 18 SDMT120412-DM z 0.200
-35-SDMTO09-M16-03 35 30 45 18 SDMTO9T312-DM 3 0.216
B | B | BB BT A R ()
QCH-52! i =]

D # W a w olel L |od| s | r | «
25 2 | 160M3.5x08TT | WD-204 | 1680M4x8.4 | WTI10IP LS SDMTO09T312-DM  [5.5250.525 4.0 |13.97| 1.2 | 15°
@30 3 | 160K 3.5:08TT | WD-204 | 160M4x8.4 | WT10IP i @’ SDMT120412-DM 127127 | 4.4 [4.76| 2.0 | 15"

L
32 2 160k 4%8.4 WD-204 | 160M4x8.4 | WT1sIP
o35 2 160k 4%8.4 WD-204 | 160k4x8.4 | WT1sIP mﬂ
T35 3 180MS08TT | WD-204 | 160M4x8.4 | WT10IP 5]

B 22




W71 5L %5 iﬁ ﬁu
T ASlmrb] |

LD
i || 1=

Jk *A’%EJ] ATk (WA )

#t
Al
7l
E & R~ (mm) =
| = rimm 1= ; =
adl <= oD oD - = JFEE HHE E=
QCH 20MWPGTO5-M10-02 20 19 30 10 WPGTOS0315Z5R 2 0.056
25MWPGETO6-M12-02 25 24 35 12 WPGTOE0415Z25R 2 0.097
[2AMWPGETO6-M16-03 32 30 45 16 WPGTOE0415Z5R 2 0.185
35AWWPGTOB-M16-02 35 30 45 16 WPGTO8D615Z5R 2 0.196
B5MWPGTO6-M16-03 35 30 45 16 WPGTOE0415Z5R 2 0.201
e 18 % E % & F EA R (mm)
. D # W a >‘// Thir T2 dle| r S | @d| o=
D20 2 | 160M3.5x08TT - WT10F WPGTO050315Z5R 7904115 | 3.5 | 40| 11°
25 2 160 4x8.4 - WT10F WPGTO60415ZSR  (9.525| 1.5 | 4.2 | 4.4 | 11°
M 32 3 160 4x8.4 - WT15F WPGTO80615ZSR  [12.85| 1.5 | 6.35| 5.5 | 11°
M35 2 160k 5%13 WD-208 WTZ20IP sd
M35 3 160 4x8.4 - WT15F

ZINaERtHI 7] B a5 7] 3%

@ = — w%"m:“mm)ao — TpEe | e
QCH -16-AZGT11-M8-02 16 15 28 10 8 AZGT113500PDER-OO 2 0.028
20-AZGT11-M10-02 20 19 30 10 10 | AZGT113500PDER-OOI 2 0.059
25-AZGT11-M12-03 25 24 35 10 12 | AZGT113500PDER-OO 3 0.104
25-AZGT16-M12-02 25 24 35 14 12 | AZGT113500FDER-OO 2 0.090
-30-AZGT16-M16-03 30 29 43 14 16 | AZGT160400PDER-OO 3 0.173
5 £ i F s R~ (mm}
QCH-WE | & TIH SN e

D # W 3// Llw| s |od] r
D16 2 160K 2.5%5.5 WTO7IP < AZGTM3516PDER |11.8| 6.5 | 3.5 | 2.8 | 1.6
20 3 160K 2.5%5.5 WTO7IR o ‘G}_‘j AZGT13524PDER [11.8| 65 | 3.5 | 2.8 | 2.4
25 3 160K 2.5%5.5 WTO7IP #e—— | A7GT160424PDER |17.25|0.45 | 4.76 | 4.4 | 2.4
25 2 I60M4x8.4 WT15IP @ AZGT160432PDER [17.25| 9.45 | 4.76 | 4.4 | 3.2

D30 3 160M4x8.4 WT15IF "

B23



HuHl

REEMES ]

FMRE 5 nf#e R, 7] &

o
&
e
EH R R~ (mm)
m = s = =
= oD DA L MD FES k)

QcH -16RDO7-M8-02 16 15 25 8 RDKWO0702MO 2 0.027
-16-RDO7-M8-03 16 15 25 8 RDKWO0702MO 3 0.030
20-RD10-M10-02 20 19 30 10 RDKW1 0T3MO 2 0.054
20-RDO7-M10-03 20 19 30 10 RDKWO0702MO 3 0.058
25-RDO7-M12-03 25 24 35 12 RDKWO0702MO 3 0.093
25-RD-10-M12-02 25 24 35 12 RDKW1 0T3MO 2 0.097
32-RD10-M16-03 32 30 45 18 RDKW1 0T3MO 3 0.183
32-RD16-M16-02 32 30 45 18 RDKW1805MO 2 0.156

& 2 §7 18 F EA R~ (mm)
£ z
JNEERE Pl ]S 8 =
®D # mlc s md
@18 2| 150M25%6.5T WTOSIP = RDKWO702MO 7 238 28
@18 3| Is0M25x6.5T WTOBIP - RDKW10T3MO 10 3.7 a4
®20 2 IB0NKXB WT15IP » ] RDKW1204MO 12 478 44
®20 3| I50M25x6.5T WTOBIP = e RDKW1605MO 18 5.56 55
®25 3 IB0NKXB WT15IP = W
199t
®25 2 IB0NKB WT15IP z
®32 3 150N B WT15IP =
®32 2 180M5x13 = WT20IT
Ay Ay
B R #SPEEkk 7] mT #e 3K 7] <k

1 K r

- -

s \. B s

E
E 4 R~ {mm}
o= NFES ==
iz ©D ® D1 L MD

QcH -16 ZOHX16-M8 16 15 28 8 ZOHX1604—00 0.029
20 ZOHX20-M10 20 19 30 10 ZOHX2005-0000 0.048
25 ZOHX25-M12 25 24 35 12 ZOHX2506-00 0.087
-30 ZOHX30-M16 30 29 45 18 ZOHX3007-00 0.170
-32ZOHX32-M16 32 30 45 18 ZOHX3207-00 0.180

) B €] i A R ~Hmm)
JIRARR TR M B E
oD w a olL.C| od | s R
D16 I70MSx12TT WT20IP - ZOHX1604 6 | 5 4 8
®20 I70MS%16TT WT20IP z ZOHX2005 20 | s 5 10
®25 I70MBx20TT WT20IP - ZOHX2506 25 6 6 | 125
@25 I70M8x25T T - WT30IP ZOHX3007 30 8 7 15
®30 I70M8x25TT 2 WT30IP ZOHX3207 32 8 7 16

B 24




mHtJ1RI




::E-J:E-.ﬁu EI¢t 7] 75

PE75° FmE#E7)k

L‘- =

£ L

g []
A R mm) B fF

B o= T# paNgiiE=

i D d H & 32 2 | i F

PE 6322 4 63 20 50 APMT1604PDER M4 T15

8027 5 80 27 50 APMT1604PDER M4 T15

10032 4 100 ap 50 APMT1604PDER M4 T15

400RE fFm Bt 7]k
n

L
d
m o T £ R~F{mmy) pme B 14

D d a H 92 2 | i F

400R 50-22 3 50 20 14 50 APMT 1604PDER M4 T15
5022 4 50 55 14 50 APMT 1604PDER MA T15
6322 4 63 50 14 50 APMT 1604PDER M4 T15
6322 5 63 55 14 50 APMT 1604PDER MA T15
8027 5 80 57 14 50 APMT 1604PDER M4 T15
10032 6 | 100 | a2 14 50 APMT 1604PDER MA T15
12540 8 | 125 | 40 14 63 APMT 1604PDER M4 T15
16040 8 | 180 | 40 14 63 APMT 1604PDER M4 T15

EMRWI[E| 7] 71wt 71k

I | BERI(mm) RS L
D DS d H a EW | 8 | B3F
EMRW 5R50-22 3 | 50 | 88 | 22 | 50 10 REMW1003 s M4 Ti5
5R5022 4 |50 | 38 | 22 | =0 10 REMW1003 5 M4 Ti5
5RE63-22 4 |83 | 41 22 | 50 10 RPMW1003 sR M4 Ti5
6R5022 3 [ 50 [ 88 | 22 | 0 iz REMT1204 5] M4 Ti5
6R5022 4 | 50 | 38 | 22 | 50 iz REMT1204 6R M4 Ti5
6RE322 4 | 83 | a1 22 | 50 B RPMT 1204 60 M4 Ti5
6RE63 22 5 | 63 | 41 22 | =50 B RPMT 1204 60 M4 Ti5
6RE63-25.4 4 |83 | 41 | 254 | =0 12 RPMT1204 61 M4 Ti5
6RE325.4 5 | 63 | 41 | 254 | 50 iz REMT1204 60 M4 Ti5
6RBO27 5 | 80 | 88 | 27 | 50 B RPMT 1204 60 M4 Ti5
6RBO-27 6 | 80 | 88 | 27 | 50 12 RPMT 1204 60 M4 Ti5
6RB031.75 5 | 80 | 88 |81.75| 50 B RPMT 1204 60 M4 Ti5
6R100-31.75 6 | 100 | 88 |81.75| 50 B REMT1204 &R M4 Ti5
6R100-32 5 | io0 | 88 | 32 | s0 B RPMT 1204 60 M4 Ti5
6R100-32 6 | 100 | 88 | 32 | 50 12 RPMT1204 &R M4 Ti5

Bos



o B Tl k7] 75 iﬁ ﬁu
Al

£o e
> R -~ .\""'.. M”
-
‘TN
& W"
i
k)
B = Ty E R R ~Hmm) T E R B 1 i
D d L1 L 02 & wF 7]
KE45 €20-50-120 4 50 20 50 120 SEKT 1204 M5 T20 a
£2550-120 4 50 25 50 120 SEKT 1204 M5 T20
£3250-120 4 50 32 50 120 SEKT 1204 M5 T20
£2563-120 5 63 25 50 120 SEKT 1204 M5 T20
£32-63-120 5 63 32 50 120 SEKT 1204 M5 T20
[o] —é—tﬁ |
SE45° SiEFmpt7]k
EH& R~ {mm) B 4+
=l T =
B = ¥y 5 » » NS = T
SE45 5022 4 50 o2 50 SEKT 1204 M5 T20
8322 5 63 22 50 SERT 1204 M5 T20
63254 5 63 25.4 50 SEKT 1204 M5 T20
8027 5 80 27 50 SEKT 1204 M5 T20
20-31.75 5 80 31.75 50 SEKT 1204 M5 T20
100-31.75 6 100 31.75 50 SEKT 1204 M5 T20
10032 6 100 32 50 SEKT 1204 M5 T20
12538.1 6 125 38.1 63 SEKT 1204 M5 T20
125-40 6 125 40 63 SEKT 1204 M5 T20
3 A »
AJXKiamet 71k
- j .
<>
- Rt
o
»
EHAR~Hmm) B 4+
i = 7 i=
= P D d a H N 2 2 | I F
AJX 5022 3 50 ) 2 50 JDMW120420ZD5R_F T M4 T15
50-22 4 50 ) > 50 JDMWI204202D5R_F T M T15
6322 4 63 22 2 50 JDMW 1 20420ZDSR_F T M4 T15
6322 3 e ) 5 50 JDMWI405002D5R-F T M5 T20
6322 4 63 2o > 50 JDMWI1405202D5R-F T M5 T20
2027 4 80 27 2 50 JDMWI405202D5R-F T M5 T20
8027 5 80 27 2 50 JDMWI1405202DSR-F T M5 T20
100-32 5 | 00 | a2 > 50 JDMWI405202D5R-F T M5 T20
50-25 .4 3 50| 25.4 2 50 JDMW 1 20420ZDSR_F T M4 T15
50-25 .4 4 50 | 254 > 50 JDMWA1204202DSR_F T M4 T15
63-25.4 4 63 | 254 > 50 JDMW 1 204202DSR-F T M4 T15
63-25.4 3 63| 254 2 50 JDMWI405202D5B-F T M5 T20
63-25.4 4 63 | 254 > 50 JDMW140520ZDSR_F T M5 T20
20-25.4 P 80 | 254 B 50 JDMWI405202D5R-F T M5 T20
20-25.4 5 80| 254 2 50 JDMWI140520ZDSR_F T M5 T20
100-31.75 5 | q00 [31.75] 2 50 JDMWI405202DSR_F T M5 T20

B2z



EuHl

TP90° EFfmst Nk

E#tJ] &

]l

5 = T B AR {mm) Tpme B
T : =
D d H SHEH | BF
TPS0O 5022 3 50 22 50 TPMN1603 M5 WRN-M3T
6322 3 63 22 50 TPMN2204 M8 WRN-MAT
8027 4 80 o7 50 TPMN2204 M8 WRN-MAT
100-32 4 100 32 50 TPMN2204 M8 WRN-M4T
125-40 6 125 40 63 TPMN2204 M8 WRN-MAT
o Ay
TP90° HAmEE7Ik
- &=
i ‘-5 =
[i_' 1 r‘j | i
L1 & "
@« ) b (
«@
E AR F{mm) E AR {mm
s |74 s |74 )
D d | di H D d | di H
TPS0O 160-50.8 8 | 160 | 508 | - 83 | TP90D 160-40 8 | 160 | 40 | - 63
200-47.625 10 | 200 |47.625(101.6| 63 200-60 10 | 200 | 80 [101.6| 63
250-47.625 12 | 250 |47.625(101.6| 63 250-60 12 | 250 | 80 [101.8| 63
300-47.625 14 | 300 |47.625(101.6| 63 300-60 14 | 300 | 80 [101.68| 63
T {FF 7] Fraltg
2 %
CL-S | FC3050-TP204-75| SV-128170-15 TPKN2204




4z

P FES AT
W) [t tinghle

E#tJ] 75

HLEL.

, D
] I.di'
v 2 &
: —_—
Lo~ D~ .
o g o >
LI 8 8
ald [ 1| |
— it
Al
W = 7 E 2R R~F(mm) W 2 7% A& R {mm) JE]
= - = 5
D d d H D d d H
FP45 80-25.4 5 | 80 | 254 | - | 50 | Fpas 80-27 5 [ 80 |27 [ - | 50
100-31.75 5 100 | 31.75 - 50 10032 5 100 32 - 50
125-38.1 4] 125 | 38.1 - 63 12540 4] 125 40 - 63
160-50.8 8 160 | 50.8 - 63 16040 8 160 40 - 63
200-47.625 10 | 200 |47.625] - 63 20060 10 | 200 60 - 83
250-47.625 12 | 250 |47.625| 101.6| B3 25060 12 | 250 80 | 101.6| B3
300-47.626 14 | 300 |47.625| 101.6| B3 30060 14 | 300 60 | 101.6| B3
& 7) F g
;}i B;% ’ 15875 %b
M5x16 FC2550 S¥-128170-15 TH-40 SEKN1203 SEKN1504
[o] Ay |
FP75° Rtk
: 8]
) — —; e d1
--I\ % *
CR w1 -
oy § of U ¢
@) @
ald [T |
B d
E R R~F(mm) A& R {mm)
o= N il =y N
D d d H D d d H
FP75 80-25.4 5 | 80 [254| - | s0 | pp7s5 | 8027 5 [ 80 |27 [ - | 50
100-31.75 3] 100 | 31.75 - 50 100-32 8 100 32 - 50
125-38.1 8 125 | 381 - 63 12540 8 125 40 - 63
160-50.8 10 | 160 | 50.8 - 63 160-40 10 | 180 40 - 83
200-47.625 12 | 200 |47.625] - 63 20060 12 | 200 80 - 63
250-47,625 14 | 250 |47.625| 101.6| B3 25060 14 | 250 60 | 101.6| B3
300-47.626 16 | 300 |47.625| 101.6| B3 30060 16 | 300 60 | 101.6| B3
& 7] F g
127 §BZ%° 15875 %b
M5x16 FC2550 S¥-128170-15 TH-40 SPUN120308 SEKN1504EDTR-20

B2o



EuHl

E#tJ] 75

FM45° s Fmet71L

455

o . B AR R~Hmm) N -
LU= TE = i 7%k =
FM45 80-27 4 | 80 | 27 | 6 | 83 SSSDR16CA-12AI | SEHT1204 | 6000 | 0.90
10032 5 100 32 | 6 | 63 SSSDR1BCA-12AI | SEHT1204 | 4800 | 1.00
12540 6 | 125 | 40 | 6 | 83 SSSDR16CA-12AI | SEHT1204 | 3800 | 1.90
16040 8 | 160 | 40 | 6 | 63 SSSDR1BCA-12A1 | SEHT1204 | 3000 | 2.70
200-60 10200 680 | 6 | 63 SSSDR1BCA-12A1 | SEHT1204 | 2400 | 4.60
25060 12 250 60 | 6 | 83 SSSDR16CA-12A1 | SEHT1204 | 2000 | 7.20
30060 14 | 315 | 60 | 6 | 83 SSSDR16CA-12A1 | SEHT1204 | 400 | 10.20
HiaEH {EF 7) Frintg

|

SSSDR1BCA-12Al

M5x16 M4

9525

SEHT1204

524

SEHT1204-PCD

FM90° fa&&Fmét7IL

B sl W .
"} —— )
T 1/
LTV
E 7R RH{mm)
iU T 7% =
= D |d|dl | H
FM90 8027 4 |80 |27 | 6 | 63| STGER16CA-16AI TP**16™ | 4000 | 0.90
10032 5 [ 100 | 32 | 6 | 63 | STGER16CA_16Al TP*16* | 3200 | 1.00
12540 6 | 125 | 40 | 6 | 83 | STGER16CA-16Al TP*16™ | 2500 | 1.90
16040 8 | 160 | 40 | 5 | 83 | STGER1BCA-18Al TP16* | 2000 | 270
200-60 10 | 200 | 60 | 6 | 63 | STGER1BCA_1BAl TP*16* | 1600 | 4.60
25060 12 | 250 [ 60 | 8 | 83 | STGER16CA-18Al P16~ | 1300 | 7.20
300-60 14 | 315 | 60 | 8 | 63 | STGER1SCA-18Al TP*16~ | 400 | 1020
HiaEH &R 7 g
9.525 9.525
STGER1BCA-1BAI | M5x16 TP*16™ TP**16*-PCD

B 2o




E#tJ] 75

[
i o
45° AN [
A
dc =
w2 714 E AR H{mm) =
de dm a B L
FMM 160M-45 18 160 40 8 16.4 63 6.50
200M-45 24 200 60 8 25.7 63 8.60
250M-45 30 250 60 8 25.7 63 10.7
315M45 36 315 60 8 25.7 63 15.50
400M-45 44 400 60 8 25.7 63 20.50
ITETE: 11600 45 | &—FETE )
TIEERIETS
| UERES
7] * R BxXNNH | 8§ | IWF | BB | EET | BE | BF | &iF
SESSDR12CA-00 | SDHTOS03AEFN-27F MSO4016 53 D4 AS05014 | L0 M3x6 T10
SSSDR12CA-09 | SDNTO903AESN-29 MSO4016 53 D4 AS05014 | L0 M3x6 T10
SSSDR12CA-0S | SDNTOS03AESH-31 MSO4016 53 D4 ASO5014 | L0 M3x6 T10
SSSDR12CA-09 | SDNTO903AESN-33 MSO4016 53 D4 AS05014 | L0 M3x6 T10
SHSDR2CA-09 XDHWOS03AESN (MS04016 53 D4 ASO5014 | L60 M3x6 T10 AR )
SHEDR2CA-D9 XDHWOS03AEEN | MS04016 53 D4 AS05014 | L0 M3x6 T10 AR )
SHEDR2CA-D9 XDHWOS03AEFN | MS04016 53 D4 AS05014 | L0 M3x6 T10 AR )
TIRFERE:
1. BETHEEETNE
2, T A% BERMMIETIET, HER L & 7
3. BREGRTDE, REHERETFEETE 0.03-0.06 & TNITT R
N 0 I T IRET
= PN E
=y

B

i 1

S ——
7

B3a1



EuHl

E#tJ] 75

SDCEFAMBET]

A
i
|
l.
J
d
w2 & B AR ~Hmm) TEES B %
D d d2 b1 i 2 R F
SDC 100 x 04 6x2 | 100 |25.4/27| 45 04 SNDX1102 SDC-M3x3.5 T8
100 x 05 Bx2 | 100 |25.4/27| 45 05 SNFX1103 SDC-M3x4.3 T8
100 x 06 5x2 | 100 |25.4/27| 45 08 SNFX1203 SDC-M4x5.2 T15
100 x 07 3x3 | 100 |25.427| 45 07 SNFX1203 SDC-M4x5.2 T15
100 x 08 3x3 | 100 |25.4/27| 45 08 SNFX1203 SDC-M4x5.2 T15
100 x 10 5x2 | 100 |25.4/27| 45 10 SNFX1205 SDC-M4x8.2 T15
125 x 04 7x2 | 125 |25.4/40| 58 04 SNFX1102 SDC-M3x3.5 T8
125 x 05 7X2 | 125 |25.4/40| 58 05 SNFX1103 SDC-M3x4.3 T8
125 x 06 6x2 | 125 |25.4/40| 58 08 SNFX1203 SDC-M4x5.2 T15
125 x 07 4x3 | 125 |25.440| 58 07 SNFX1203 SDC-M4x5.2 T15
125 x 08 4x3 | 125 |25.4/40| 58 08 SNFX1203 SDC-M4x5.2 T15
125 x 09 Bx2 | 125 |25.4/40| 58 09 SNFX1205 SDC-M4x8.2 T15
125 x 10 6x2 | 125 |25.4/40| 58 10 SNFX1205 SDC-M4x8.2 T15
160 x 04 9x2 | 180 |25.4/40| B8 04 SNFX1102 SDC-M3x3.5 T8
160 x 05 9x2 | 180 |25.4/40| B8 05 SNFX1103 SDC-M3x4.3 T8
160 x 06 8x2 | 180 |25.4/40| B8 08 SNFX1203 SDC-M4x5.2 T15
160 x 07 5x3 | 180 |25.4/40| B8 07 SNFX1203 SDC-M4x5.2 T15
160 x 08 5x3 | 180 |25.4/40| B8 08 SNFX1203 SDC-M4x5.2 T15
160 x 09 8x2 | 180 |25.4/40| B8 09 SNFX1205 SDC-M4x8.2 T15
160 x 10 8x2 | 180 |25.4/40| 68 10 SNFX1205 SDC-M4x8.2 T15
w2 & = Y18 2.5 N
d1 L s
SNFX1102 EEa 3.7 11 2.3
SNFX1103 T HESH 3.7 11 2.7
SNFX1203 5 Bk 12.7 3.18
SNFX1205 SBE 12.7 5.4

B ATEMEERELRT, IERTREAWHT.

B a2




E#tJ] 75

i
Fl
7l
1=
w = —_ AR~ {mm) Tpme B 4
= D D1 d L 42 42 iR F
KCX100-L 8 100 55 32 8-9 LNEU1504 MdX8 4 T15
KCX100-L 8 100 55 32 9-10 SNEU1205 M5X10 T20
KCX100-L 8 100 55 32 10-12 SNEU1206 M5X10 T20
KCX125-L 10 125 65 40 8-9 LNEU1504 M4X8.4 T15
KCX125-L 10 125 65 40 9-10 SNEU1205 M5X10 T20
KCX125-L 10 125 65 40 10-12 SNEU1206 M5X10 T20
KCX160-L 12 160 65 40 8-9 LNEU1504 MdX8 4 T15
KCX160-L 12 160 65 40 9-10 SNEU1205 M5X10 T20
KCX160-L 12 160 65 40 10-12 SNEU1206 M5X10 T20
KCX160-L 12 160 65 40 12-14 SNEC1507 M5X12 T20
KCX160-L 12 160 65 40 14-16 | CDEUO9O4RL M4X8.4 T15
KCX160-L 12 160 65 40 16-20 | CDEU1206RL M5X12 T20
KCX160-L 12 160 65 40 | 20-28 | CDEU1B0BR/L M5X12 T20
KCX200-L 16 200 75 50 8-9 LNEU1504 M4X8.4 T15
KCX200-L 14 200 75 50 9-10 SNEU1205 M5X10 T20
KECX200-L 14 200 75 50 10-12 SNEU1206 M5X10 T20
KCX200-L 14 200 75 50 12-14 SNEC1507 M5X12 T20
KCX200-L 14 200 75 50 14-16 | CDEUO904RL M4X8.4 T15
KCX200-L 14 200 75 50 16-20 | CDEU1206RL M5X12 T20
KCX200-L 14 200 75 50 | 20-28 | CDEU1606RL M5X12 T20
KCX250-L 18 250 a0 60 10-12 SNEU1206 M5X10 T20
KCX250-L 16 250) 90 60 12-14 SNEC1507 M5X12 T20
KECX250-L 16 250 90 60 14-16 | CDEU0S04R/L M4X8.4 T15
KECX250-L 16 250 a0 60 16-20 | CDEU1208R/L M5X12 T20
KECX250-L 16 250 90 60 | 20-28 | CDEU1606RL M5%12 T20
KECX315-L 20 315 a0 60 10-12 SNEU1206 M5X10 T20
KCX315-L 20 315 a0 60 12-14 SNEC1507 M5X12 T20
KCX315-L 20 315 a0 60 14-16 | CDEUO904RL M4X8.4 T15
KCX315-L 20 315 a0 60 16-20 | CDEU1206RL M5X12 T20
KCX315-L 20 315 a0 60 | 20-28 | CDEU1606R/L M5X12 T20
KECX350-L 20 350 90 60 16-20 | CDEU1206RL M5X12 T20
KECX350-L 20 350 90 60 | 20-28 | CDEU1606RL M5X12 T20
KECX400-L 24 400 90 60 16-20 | CDEU1206RL M5X12 T20
KECX400-L 24 400 90 60 | 20-28 | CDEU1B0BRL M5X12 T20
KCX500-L 30 500 a0 60 16-20 | CDEU1206RL M5X12 120
KECX500-L 30 500 90 60 | 20-28 | CDEU1606R/L M5x12 T20
ST E AR R~H{mm)
L L1 5 d1 B
LNEU1504 9.525 15.875 4.76 4.3
SNEU1205 12.7 12.7 5.56 5.3 60°
SNEU1206 12.7 12.7 6.35 5.3 60°
SNEU1507 15.87 15.87 7.94 5.5 a0°

B3a3



::E-J:E-.ﬁu EI¢t 7] 75

5% AR (v F A BE TIKr60°

[B]]
d
H
%! 60°
|
| BARRT (mm) %= i B &
= TE AR
D |D1|H| d|®s T e e | IR F
6C2K160RIL 8 | 160|192 | 63 | 40 | B LSE434R/ 01 MEO4-10 | M5x15 | T20
6C2K200RIL 10 | 200 | 232 | 83 | 60 [C(CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6C2K250RIL 12 | 250 | 282 | 83 | 60 [C(CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6C2K315RIL 15 | 315 | 347 | 80 | 60 [C{CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6C2L200R/L 8 | 200|242 | 80 | 80 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
6C2L250R/L 10 | 250 | 202 | 80 | 60 [C{CA) LSE446R 01 MEG4R13 | M5x19 | T20
6C2L315RL 12 | 315 | 356 | 80 | 60 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
6C2L400RL 16 | 400 | 441 | 80 | 60 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
- ® A8 o
RN EAFEmAES J1IKr90
d
H
ao°
| BARRS mm)| %= 3 i &
o= TE TR
D H d | Bzt T B e | IR F
6J2K160R/L 6 | 180 63 |40 | B LSE434R1 01 MEO4-10 | M5x15 | T20
6J2K200R/L 8 | 200 63 | 80 [C{CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6J2K250R/L 10 | 250 63 | 80 [C{CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6J2K315RIL 12 | 315 80 | 80 [C{CA) LSE434R1 01 MEO4-10 | M5x15 | T20
6J2L200R/L 9 | 200 63 | B0 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
6J2L250R/L 12 | 250 63 | B0 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
6J2L315RIL 15 | 315 80 | 80 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20
6J2L400R/L 18 | 400 80 | B0 [C{CA) LSE446R 01 MEO4R13 | M5x19 | T20

B34



E#tJ] 75

HLEL.

d
|
) e
LY H
T =-_90°
[ — /ﬁWLL_ _________ N
.| BARRT(mm) %= ik B
m e N 7R
D H d | Bust fR5Y e | IR F
6F2K160RIL 4 160 63 | 40 | B YCE434-01 BF2K-02 T20
6F2K200R/L 6 200 63 | BO [C{CA) YCE434-01 BF2K-02 T20
6F2K250R/L 6 250 63 | B0 [C{CA) YCE434-01 BF2K-02 MAX13 | T20
6F2K315RIL 8 315 80 60 [C(CA) YCE434-01 BF2K-02 M5x15 | Tog
6F2K400R/L 12 | 400 80 | BO [C{CA) YCE434-01 BF2K-02 T20
6F2K500R/L 12 | 500 80 | B0 [C{CA) YCE434-01 BF2K-02 T20
_ EH A& R~FH{mm)
71 H g B =
B 5 di
LSE434 RILO1 . s 19 14.3 6.4 5.5
LSE446 RILO1 T :(r" 28.6 14.3 9.5 5.5
o) \@‘\ di H ‘
iy
YCE434.01 . 19.1 14.3 6.4 5.5
s B i
T i _di J
m__-"'@i' __| Z
1
E AR R~Hmm)
TR
L d 5 r o
APLT1504ZZR 15.88 12.7 476 1.94 11°
AR R~Hmm)
nl
71y B L d 5 r d
SPLT1204AD 12.7 12.7 476 1.94 5.5
E AR R~Hmm)
T H 3 DR
Fr B B = L1 Lo=D g m o .
ADHW150308 e B 15 9.525 3.18 3.91 4.5 15°
AP HW1 60408 ‘ xl\@ﬂ wﬂ 15.875 127 476 3.63 5.56 112
Bl wmeidl g
HH -5k

Bas

Sy




BEBERSERRENERBETE

G AL

L:sr AN T

B:ASEHMT

THE&&MNT X:BtHl AR wE

S

G L X—-04 12-—-04

Y G L
( YEEBERGEET LTl P4ER

1 KA &R L & 5 R:E®7] D:EESET
THAE R R ) QERSLT] CD:B/ET]

B:igMN 7] SD:WEHET
H: Kift4s JD:#57]
WHBLr SZ:aiE

B B HEeCHfR

T fisn

50 — 4T — (LIL1)




BRERGEHHIIE

HRC %g
- 13 —-0——0.02
50 | +55 12< —-0—-0.03 Ey]ﬁﬁi{[
= 71 12 Dc 714 L BEEL WmEd I
Y GLX-0103-0350-T 1 3 50 3 2/3/4
Y GLX-0154-0350-T 1.5 4 50 3 2{3/4
Y GLX-0206-0350-T 2 5] 50 3 2/3/4
Y GLX-0258-0350-T 25 8 50 3 2{3/4
Y GLX-0308-0350-T 3 8 50 3 2/3/4
Y GLX-0103-0450-T 1 3 50 4 2{3/4
Y GLX-0154-0450-T 1.5 4 50 4 2/3/4
Y GLX-0205-0450-T 2 5 50 4 2/3/4
Y GLX-0308-0450-T 3 8 50 4 2/3/4
Y GLX-0412-0450-T 4 2 50 4 2/3/4
Y GLX-0103-0650-T 1 3 50 151 2/3/4
Y GLX-0205-0650-T 2 5 50 6 2/3/4
Y GLX-0308-0650-T 3 8 50 5] 2{3/4
Y GLX-0412-0650-T 4 12 50 5] 2304
Y GLX-0515-0650-T 5 15 50 6 2/3/4
Y GLX-0616-0650-T 5 16 50 6 2{3/4
Y GLX-0716-0860-T 7 16 5] 8 2/3/4
Y GLX-0820-0860-T 8 20 B0 8 2/3/4
Y GLX0920-1075-T g 20 75 10 2/3/4
Y GLX-1030-1075-T 10 30 75 10 2/3/4
YGLX-12321275-T 12 32 75 12 2/3/4
YGLX-1445-16100-T 14 45 100 16 2/3/4
YGLX-1645-16100-T 16 45 100 16 2/3/4
YGLX-1845-20100-T 18 45 100 20 2{3/4
YGLX-2045-20100-T 20 45 100 20 2/3/4
[=]
BRMHRESEEENES
&
i
s
1
‘ [EG!
&
I
7= 2% = RE 7=
D= —-0——0.015 Rz +0.02
ULTRA 1<b<3 -0--0.02
450 ~ |45 | »55 | B0 12 (] [GFE)
o= 7] #2Dc R & 7 1% Le 2L WmEd 7] #
YGRX0206-0650-T-R 2 0.2/0.3/0.5 5] 50 6 2{4
YGRX0308-0650-T-R 3 0.2/0.3/0.5/1 8 50 5] 244
YGRX0411-0650-T-R 4 0.2/0.3/0.5/1 11 50 6 2{4
YGRX0513-0650-T-R 5 0.2/0.3/0.5/1 13 50 6 214
YGRX0616-0650-T-R 6 0.2/0.3/0.5/1/1.5/2 16 50 6 214
YGRX0820-0860-T-R 8 0.3/0.5/1/1.5/2/2.5/3 20 B0 8 244
YGRX1030-1075-T-R 10 0.3/0.5/1/1.5/2/2.5/3 30 75 10 2i4
YGRX1232-1275-T-R 12 0.3/0.5/1/1.5/2/2.5/3 32 75 12 244

Baz

Sy




EuHl

37 30050

BURERGEHHIIE

BEXIRS

Q.
: ST i
L= %
L
RfE PASE
ULTR A HRC HRC
= 7] #2Dc R & 71 < Le BACL mEd 7] #
YEAX0102-0450-T-R 1 0.5 2 50 4 2
YGEAX0153-0450-T-R {5 0.75 & 50 4 2
Y GEAX0204-0450-T-R 2 1 4 50 4 2
YGEAX0255-0450-T-R 2.5 1.25 5 50 4 2
Y GEAX0306-0450-T-R 3 1.5 B 50 4 2
YGEAX0408-0450-T-R 4 2 8 50 4 2
YGEAX0102-0650-T-R 1 0.5 2 50 B 2
Y EAX0204-0650-T-R 2 1 4 50 B 2
YGEAX0306-0650-T-R 3 1.5 5 50 5 2
Y GAX0408-0650-T-R 4 2 8 50 5] 2
YGEAX05100650-T-R 5 2.5 10 50 B 2
YGAX0612-0650-T-R 5] 3 12 50 B 214
YGEAX0714-0860-T-R i 3.5 14 B0 8 244
YEAX0816-0860-T-R 8 4 16 B0 8 214
YGEAX1020-1075-T-R 10 5 20 75 10 214
YGEAX1224-1275-T-R 12 5] 24 75 12 214
YEAX1632-16100-T-R 16 8 32 100 16 2/4
YGAX2040-20100-T-R 20 10 40 100 20 214
-
BEBRESEENRNRS
=
= 7] #&Dc 71 Le BL Zd 7] #
YGEBX0306-0650-T 3 B 50 5] 3/4
YGBX0408-0650-T 4 8 50 B 3/4
YGBX0510-0650-T 5 10 50 B 3/4
YGBX06120650-T B 12 50 B 34
YGBX07180860-T 7 18 B0 8 3/4
YGBX0718-0860-T 8 18 B0 8 3/
YGBX0922-1075-T 9 22 75 10 3/4
YGBX1022-1075-T 10 22 75 10 34
YGBX1227-1275-T 12 27 75 12 3/4
YGBX1635-16100-T 16 35 100 16 34
YGBX2040-20100-T 20 40 100 20 3/4

B3s




BRERGEHHIIE

CIY
EE i :
o
LY
L
7 & n=
D —-0——0.015
ULTR A 1=h<3 —-0—-0.02
an
12<h —0——0.03
il = MWD | KL | BB | KXBd, | WA | BRKL 7 #
¥ GLX0104-0450-2T-B1.0 1.0 1.14 £ 50
¥ GLX0104-0450-2T-B2.0 2.0 1.28 £ 50
Y GLX0104-0450-2TB3.0 10 4 3.0 1.42 £ 50 5
Y GLX0104-0450-2T-B5.0 5.0 1.70 £ 50
¥ GLX0104-0450-2T-BY.0 7.0 1.88 £ 50
¥ GLX0104-0450-2T-B10.0 10.0 2.4 £ 50
Y GLX0206-0450-2/3T-B1.0 1.0 2.2 £ 50
¥ GLX0206-0450-2/3T-B2.0 2.0 241 4 50
Y GLX0206-0450-2/3T-B3.0 20 5 3.0 2,62 4 50 23
Y GLX0206-0450-2/3T-B5.0 5.0 3.05 £ 50
Y GLX0206-0450-2/3T-B7.0 7.0 3.47 £ 50
Y GLX0206-0450-2/3T-B10.0 10.0 4,12 £ 50
Y GLX0310-0450-2/3T-B1.0 1.0 3.35 £ 50
Y GLX0310-0450-2/3T-B2.0 2.0 3.69 £ 50
¥ GLX0310-0650-2/3T-B3.0 3.0 10 3.0 4,06 5 50 23
Y GLX0310-0650-2/3T-B5.0 5.0 4,75 =3 50
Y GLX0310-0650-2/3T-B7.0 7.0 554 5 50
¥ GLX0310-0860-2/3T-B10.0 10.0 65.53 8 B0
¥ GLX0415-0650-2/3T-B1.0 1.0 4,52 151 50
Y GLX0415-0650-2/3T-B2.0 2.0 5.04 5 50
¥ GLX0415-0650-2/3T-B3.0 40 15 3.0 557 5 50 23
¥ GLX0415-0860-2/3T-B5.0 5.0 B5.62 8 B0
¥ GLX0415-0860-2/3T-B7.0 7.0 7.68 8 B0
¥ GLX0415-1075-2/3T-B10.0 10.0 8.30 10 75
¥ GLX0520-0650-2/3T-B1.0 1.0 570 6 50
Y GLX0520-0860-2/3T-B2.0 2.0 5.39 8 B0
Y GLX0520-0860-2/3T-B3.0 5.0 20 3.0 7.10 8 50 23
¥ GLX0520-1075-2/3T-B5.0 5.0 8.50 10 75
Y GLX0520-1075-2/3T-B7.0 7.0 9.9 10 75
¥ GLX0520-1275-2/3T-B10.0 10.0 12.05 12 75
¥ GLX0620-0860-2/3/4T-B1.0 1.0 B5.70 8 B0
¥ GLX0620-0860-2/3/4T-B2.0 2.0 7.40 8 B0
Y GLX0620-0875-2/3/4T-B3.0 6.0 20 3.0 8.10 8 75 2304
Y GLX0620-1075-2/3/4T-B5.0 5.0 a.50 10 75
Y GLX0620-1275-2/3/4AT-B7.0 7.0 10.81 12 75
¥ GLX0620-1275-2/3/AT-B10.0 10.0 13.05 12 75
Y GLX0825-1075-2/3/4AT-B1.0 1.0 8.87 10 75
Y GLX0825-1075-2/3/4AT-B2.0 2.0 a.74 10 75
¥ GLX0825-1075-2/3/4TB3.0 8.0 25 3.0 10.62 10 75 23/
Y GLX0825-1275-2/3/4AT-B5.0 5.0 12.37 12 75
Y GLX0825-1275 2/3/AT-B7.0 7.0 14,14 12 75
¥ GLX0825-16100-2/3/4T-B10.0 10.0 16.82 16 100
¥ GELX1035-12100-2/3M4T-B1.0 1.0 11.22 12 100
Y GELX1035-12100-2/3M4TB2.0 2.0 12.44 12 100
Y GELX1035-12100-2/3M4TE3.0 10.0 35 3.0 13.67 12 100 2314
| YGLX1035-16100-234T-B5.0 | 50 16.12 16 100
¥ GLX1035-16100-2/3M4TB7.0 7.0 18.60 16 100
¥ GLX1035-20100-T-B10.0 10.0 22.34 20 100

Bao

Sy




i,!li ﬁu BARRE A & Sl TR
BEBESEHERETKIIRS

7. 2
i S
e L
I L Lol
7= FAS
7l
IIIG »45 | »55 = =
il /I #Z2D REZ |71{L, | BB | A&d | WMEJd| BKL| D&
YGQX0104-0450-2T-B1.0R0.5 1.0 1.14 4 50
YGLX0104-0450-2T-B2.0R0.5 2.0 1.28 4 50
YGLX0104-0450-2T-B3.0R0.5 0 ae 4 3.0 1.42 4 50 :
YGLX0104-0450-2T-B5.0R0.5 5.0 1.70 4 50
YGLX0104-0450-2T-B7.0R0.5 7.0 1.98 4 50
YGLX0104-0450-2T-B10.0R0.5 10.0 2.4 4 50
YGLX0206-0450-2T-B1.0R1.0 1.0 221 4 50
YGLX0206-0450-2T-B2.0R1.0 2.0 2.4 4 50
YGLX0206-0450-2T-B3.0R1.0 2 - 5 3.0 2.62 4 50 5
YGLX0206-0450-2T-B5.0R1.0 5.0 3.05 4 50
YGLX0206-0450-2T-B7.0R1.0 7.0 3.47 4 50
YGLX0206-0450-2T-B10.0R1.0 10.0 4.12 4 50
YGLX0310-0450-2T-B1.0R1.5 1.0 3.35 4 50
YGLX0310-0450-2T-B2.0R1.5 2.0 3.69 4 50
YGLX0310-0650-2T-B3.0R1.5 S . " 3.0 4.05 6 50 :
YGLX0310-0650-2T-B5.0R1.5 5.0 4.75 6 50
YGLX0310-0650-2T-B7.0R1.5 7.0 5.5 6 50
YGLX0310-0860-2T-B10.0R1.5 10.0 6.53 8 60
YGLX0415-0650-2T-B1.0R2.0 1.0 4.52 6 50
YGLX0415-0650-2T-B2.0R2.0 2.0 5,04 6 50
YGLX0415-0650-2T-B3.0R2.0 9 25 = 3.0 5.57 6 50 5
YGLX0415-0860-2T-B5.0R2.0 5.0 6.62 8 60
YGLX0415-0860-2T-B7.0R2.0 7.0 7.68 8 60
YGLX0415-1075-2T-B10.0R2.0 10.0 9.30 10 75
YGLX0520-0650-2T-B1.0R2.5 1.0 5.70 6 50
YGLX0520-0860-2T-B2.0R2.5 2.0 6.39 8 60
YGLX0520-0860-2T-B3.0R2.5 = o - 3.0 7.10 8 60 :
YGLX0520-1075-2T-B5.0R2.5 5.0 8.50 10 75
YGLX0520-1075-2T-B7.0R2.5 7.0 9.91 10 75
YGLX0520-1275-2T-B10.0R2.5 10.0 12.05 12 75
YGLX0620-0860-2T-B1.0R3.0 1.0 6.70 8 60
YGLX0620-0860-2T-B2.0R3.0 2.0 7.40 8 60
YGLX0620-0875-2T-B3.0R3.0 . o =5 3.0 8.10 8 75 5
YGLX0620-1075-2T-B5.0R3.0 5.0 9.50 10 75
YGLX0620-1275-2T-B7.0R3.0 7.0 10.91 12 75
YGLX0620-1275-2T-B10.0R3.0 10.0 13.05 12 75
YGLX0825-1075-2/4T-B1.0R4.0 1.0 8.87 10 75
YGLX0825-1075-2/4T-B2.0R4.0 2.0 9.74 10 75
YGLX0825-1075-2/4T-B3.0R4.0 3.0 10.62 10 75
YGLX0825-1275-2/4T-B5.0R4.0 8.0 4.0 25 5.0 12.37 12 75 24
YGLX0825-1275-2/4T-B7.0R4.0 7.0 1414 12 75
YGLX0825-16100-2/4T-B10.0R4.0 10.0 16.82 16 100
YGLX1035-12100-2/4T-B1.0R5.0 1.0 11.22 12 100
YGLX1035-12100-2/4T-B2.0R5.0 2.0 1244 12 100
YGLX1035-12100-2/4T-B3.0R5.0 3.0 1367 12 100
YGLX1035-16100-T-B5.0R5.0 10:0, 20 =5 5.0 16.12 16 100 2k
YGLX1035-16100-T-B7.0R5.0 7.0 18.60 16 100
YGLX1035-20100-T-B10.0R5.0 10.0 2234 20 100

B 40



BRERGEHHIIE

HLEL.

N4 A
) . LC |
7 =F 2=
D —-0—-0.015
1<P<3 —0--002
werra | 3<b=12 —0--0.025
il = 7] £Dc 7 K Le 2L WEd 7 &
YGHX06150650-3T-R B 15 50 B 3
YGHX0820-0860-3T-R 8 20 B0 8 3
YGHX1025-1075-3T-R 10 25 75 10 3
YGHX1230-1275-3T-R 12 30 75 12 &
YGHX1645-16100-3T-R 16 45 100 16 3
SEmARK 5
BEWMES SR EY]
Q..
. > fo%é an
ST S U
| 1 =
I
RE 2 =
Rz =002
e 7 #Dc R #& 7 K Le 2oL WEd 7 &
YLQX0102-0450-T-R 1 0.5 2 50 4 2
YLQX0153-0450-T-R s 0.75 & 50 4 2
YLQX0204-0450-TR 2 1 4 50 4 2
YLQX0255-0450-T-R 2.5 1.25 5 50 4 2
YLQX0306-0450-T-R 3 1.5 5 50 4 2
YLQX0357-0450-T-R 3.5 1| 7E i 50 4 2
YLQX0408-0450-T-R 4 2 8 50 4 2
YLQX0459-0650-T-R 4.5 2.25 9 50 B 2
YLQX0510-0650-T-R 5 2.5 10 50 B 2
YLQX055110650-T-R 5.5 2.75 11 50 B 2
YLQX06812-0650-T-R 5 3 12 50 B 2
YLQX0816-0860-T-R 8 4 16 B0 8 2
YLQX1020-1075-T-R 10 5 20 75 10 2
YLAX1224-1275-TR 12 B 24 i 12 2
YLQX1428-16100-T-R 14 7 28 100 16 2
YLQX1632-16100-T-R 16 8 32 100 16 2
YLQX2040-20100-T-R 20 10 40 100 20 2

B41

Sy




EuHl

BAFERSERE AT R

BURERGEHHIIE

7= 2 =
D -0——0.015
ULTRa §AFTO[RAFNO 1=b<3 -0--0.02
: % m E /‘E 3=h<12 —0——0.025
55" 12z -0—-0.03
B S 7 &Dc 71§ Le s L £ d N
YLLX0103-0450-T 1 3 50 4 2314
YLLX0205-0450-T 2 5 50 4 2314
YLLX0308-0450-T 3 8 50 4 21314
YLLX0412-0450-T 4 12 50 4 2314
YLLX0103-0650-T 1 3 50 5 2314
YLLX0205-0650-T 2 5 50 5 21314
YLLX0308-0650-T 3 8 50 5 2314
YLLX0412-0650-T 4 12 50 5] 2314
YLLX0513-0650-T 5 13 50 5 2314
YLLX0616-0650-T 5 16 50 5 2314
YLLX0820-0860-T 8 20 50 8 2/3/4
YLLX1030-1075-T 10 30 75 10 2314
YLLX1232-1275-T 12 32 75 12 2/3/4
¥LL X1650-16100-T 16 50 100 16 2{3/4
YLLX2050-20100-T 20 50 100 20 21314
e MER
BRSNS RS
b -4 O
| I
b
7 =F 2 =
D -0—-0.015
1Dl -0—-0.02
Sl —0—-0.025
12z -0—-0.03
B S 7 &Dc s e ks L W = d n#
Y LDX0308-0650-T 3 8 50 5 1
¥ LDX0412-0650-T 4 12 50 5 1
Y LDX0515-0650-T 5 15 50 5 1
¥ LDX0616-0650-T 5 16 50 5 1
YLDX05250675-T 5 25 75 5 1
¥ LDX0625-0675-T 5 25 75 5 1
Y LDX0820-0875-T 8 20 75 8 1
¥ LDX0830-0875-T 8 30 75 8 1
YLDX1030-1075-T 10 30 75 10 1
¥ LDX1040-1090-T 10 40 90 10 il
YLDX1230-1275-T 12 30 75 12 1
Y LDX1240-1290-T 12 40 90 12 il

B 42




= "'EIE ﬁu
T‘Ji a3

R 3 1
ST @
k.
e |
ULTR A L
: :
me 7 @D K Lo K L & d We  |[NEDN KL AKL BEd| |
YBLX0206-0447-T 2 5 47 £ YBLX0OS9022-1062-T g 22 62 10 4
YBLX0258-0447-T 2.5 8 47 4 YBLX10022-1062-T 10 22 B2 10 =k
YBLX03010-0447 -T 3 10 47 4 YBLX12026-1266-T 12 26 66 12
YBLX04012-0647 -T £ 12 47 B YBLX14032-1482-T 14 32 82 14
YBLX05015-0652-T 5 15 52 B YBLX168032-1682-T 16 32 82 16
YBLX06015-0652-T 5 15 52 B YBLX18038-18102-T 18 38 102 18
YBLX07018-0855-T 7 1 8 55 8 YBLX20038-20102-T 20 38 102 20
YBLX08018-0855-T 8

ﬁﬁﬁEJﬁAﬁﬁAﬁﬁﬂ ?»Z?ll

— 1
ST
, Ll
V= o 0
ok “ >
¥ FI
e 7 ZDc|T K Le| B L | & d = 7 ZDc|TD Kl REL| HEd

YTLX0206-0447-T 2 6 47 4 YTLX09022—1082—T 9 20 62 10
YTLX0258.0447-T 25 8 47 4 YTLX10022-1062-T 10 25 62 106
YTL X03010-0447 T 3 0 47 4 YTLX12026-1266-T 12 26 66 )
YTL X04012-0647 -T 4 3 a7 8 YTLX14035_1480-T 14 3 & 14
YTL X05015-0652-T 5 15 52 6 YTLX16035_1682_T 16 32 82 1B
YTL X06015-0652-T 6 15 5 6 YTLX180368-18100.T | 18 36 162 8
YTL X07018-0855-T 7 1 8 55 8 YTLX20038-20100_T | 20 38 102 20
YTL X08018-0855 T 8 8

BAEES ﬁiEH' UEZ]

. I
4
- ! —ib
n = EARR~H{mm) % = EAR R {mm)
= D d b = D d b

YGPX-1200-T 12 6 0.15-4.5 YGPX-5000-T 50 16/20 0.3-5.0
YGPX-1600-T 16 8 0.15-4.5 YGPX6300-T 63 16/20 0.3-5.0
YGPX-2000-T 20 8 0.15-4.5 YGPX-7000-T 70 12.7/25.4 0.3-5.0
YGPX-2500-T 25 8 0.2-4.5 YGPX-7500-T 75 12.7/25.4 0.4-5.0
YGPX-2700-T 27 8/12.7 0.2-4.5 YGPX-8000-T 80 25.4/31.75 0.4-5.0
YGPX-3000-T 30 8/12.7 0.2-45 YGPX-8500-T 85 £5.4/31.75 0.4-5.0
YGPX-3200-T 32 8/12.7 0.2-4.5 YGPX-9000-T 90 25.4/31.75 0.5-5.0
YGPX-4000-T 40 25 0.3-4.5 YGPX-9500-T 95 05.4/31.75 0.5-5.0
YGPX-4500-T 45 127 0.3-4.5 YGPX-10000-T 100 25.4/31.75 0.5-5.0
YGPX-5000-T 50 2y 0.3-4.5 YGPX-10500-T 105 25.4/31.75 0.5-5.0
YGPX-5500-T 55 16 0.3-4.5

Ba3



i,!li ﬁu BARRE A & Sl TR
BAEBESSIBABTIRS

0 s
ey K
P e VL)
T:— | 44 L _‘T

= Pﬂ? nfE Eg i;g d D |BEEHE [ e
Y GWX0220530658-T 0.5 M3 =4 5] e 2 Fiz 58
Y GWX0381030658-T 0.5 h=h 5} 38 3 103 58
Y GWX0310740658-T 0.7 n 5 h=h 5] a4 5 T4 58
Y GWX0451010658-T 0.75 h=6 5} 45 & 101 58
Y GWX0360920658-T 0.8 M5 h=6 5] 36 3 9.2 58
Y GWX 04010506858 -T 1.0 MG h=7 5} 4.0 = 105 58
Y GWX0401450658-T 1.0 MG h=7F 5] 40 3 145 58
Y GWX0601250658-T 1.0 h=9 5] 5.0 3 i 58
Y GWX 0801650864 -T 1.0 =10 g 3.0 4 16.5 54
Y GWX0501440658-T 1.25 M8 =10 5] 5.0 % 14 .4 58
Y GWX0501940658-T 1.25 M8 =10 5] 5.0 ) 194 58
Y GWX0701730864-T T M10 h=12 3 7.0 & e 54
Y GWX0702480876-T 1.5 M10 h=12 g 7.0 ) 248 Fils3
Y GWX-100218-1073-T 1.5 =14 10 10.0 4 2 T3
Y GWX-160338-16105-T 1.5 =20 16 16.0 5] 338 105
Y GWX0802010864-T oy M12 =14 3 2.0 & 201 54
Y GWX0802890876-T 1.75 M12 =14 g 2.0 2 2549 Fils3
Y GWX-100270-1073-T 2.0 M16 =17 10 10.0 2 27.0 T3
Y GWX-100390-10105-T 2.0 M16 =17 10 10.0 5 390 105
Y GWX-120270-1284-T 2.0 h=18 12 12.0 4 27.0 g4
Y GWX-200410-20105-T 2.0 =26 20 200 5] 41.0 105
Y GWX-140338-1484-T 25 M20 h=22 14 14.0 4 338 g4
Y GWX-140488-14105-T 25 M20 h=22 14 14.0 4 485 105
Y GWX-160405-16105-T 3.0 M24 b =25 16 16.0 ) 405 105
Y GWX-160585-16120-T 3.0 M24 h=25 16 16.0 3 5585 120
Y GWX-200435-20105-T 3.0 M27 =28 20 200 4 435 105

B 44



BRERGEHHIIE

HLEL.

JEE=E R 4
[
|1
| 2
L
A = F D L1 B a1 L2 d L A
Y GWX01057-0650-B10°X0.35 0.35 1 57 10° 3 g 5 50 50°
Y GWX02063-0650-B10°X0.3 0.3 2 6.3 10° 4.2 11 5 50 507
Y GWX02072-0650-B10°X0.4 0.4 2 7.2 102 4.5 17 5 50 507
Y GWX02086-0650-B10°X0.5 0.5 2 8.6 10° 5 20 5 50 50°
Y GWX03311-0650-B7“X0.75 0.75 3.3 11 T 6 - 5 50 50°
Y GWX020011-0655-B10°X0.35 0.35 2 11 10° 5 - 5 55 by
Y GWX03014-0660-B10°X0.4 0.4 14 10° 8 - 8 50 507
Y GWX03512-0660-B10°X0.5 0.5 35 12 10° 8 - 8 60 50°
Y GWX04011-0660-B10°X0.5 0.5 £ 11 10° 8 - 8 50 50°
EERLHERS
BBRESELERS
R
‘\-,_,.//

o= B2LT(M) B2EE(P) 2 L1 D 7

YGSZ03 M3 0.5 48 11 2,24 3

YGSZ04 M4 0.7 53 13 Rk 3

YGSZ05 M5 0.8 58 16 £ 3

YGSZ06 M8 1 68 19 45 3

YGSZ08 M8 1.25 72 22 5.3 3

YGSZ10 M10 15 80 24 8 3

YGSZ12 M12 1.75 89 29 g 3

YGSZ14 M4 2 a5 30 1.2 3

YGSZ16 M16 2 102 32 12.5 3

YGSZ18 M18 2.5 112 B 14 3

YGSZ20 M20 2.5 12 37 14 3

Bas

Sy




BURERGEHHIIE

EuHl

BABRSEHAENRI

BEEESENAHTHNRI

B 45

BE H B L1 D L
¥YGCD2.0 1.5 1.3 55 3] 41
YGCD2.5 2.0 18 55 s 41
YGCD3.0 2.3 2.0 55 s 41
¥YGCD3.5 2.7 2.3 55 els) 41
YGCD4.0 3.1 2.7 55 s 41
YGCD4.5 3.5 3.0 515 s 41
YGCD4.8 3.4 3.2 55 B 41

BS H B L1 D 12
YGSD2.0 2.0 1.3 4.5 B 42
YGSD2.5 2.5 15 4.5 ls) 42
YGSD3.0 3.0 2.0 4.5 B 42
YGSD3.5 3.5 2.3 4.5 DB 42
YGSD4.0 4.0 2.7 4.5 s 42
YGSD4.5 4.5 3.0 4.5 els) 42
YGSD4.8 4.8 3.2 4.5 PE 42

s H B 55 D L
YGJD2.0 1.28 2.04 5 B 41
YGJD2.5 187 2.54 5 els) 41
YGJD3.0 1.86 3.05 5 s 41
YGJD3.5 2.14 3.54 5 B 41
YGJD4.0 2.44 4.05 5 PE 41
YGJD4.5 2.73 4.56 5 ls) 41
YGJD4.8 2.80 4.87 5 6 41




THERSGEEE

BHEBIEHEN

BARRAE [ HBERE, HAY)

o

{
| — - )

BB BRh i

—i

T SKEEH SR AT S 3
gk
) j - =~
BT-ER#{E i 3 A &
p |
e — EARER A KA ERI {3k
TR F S R e ee—
AT T AL E %
et - — - ﬁ_" '——‘
B L A B R R hMEER
B L L TR ekl
BEGEIIN | B2 | A7)

EREENN (HLER)

SLOH EF 148

Bl 7148

s

FEELTA

i
an,
SLOM LDtk CSOMBIE g | g
LY \ llj o
e

oy

EEIE FEREDX



	整本内页_页面_066
	整本内页_页面_067
	整本内页_页面_068
	整本内页_页面_069
	整本内页_页面_070
	整本内页_页面_071
	整本内页_页面_072
	整本内页_页面_073
	整本内页_页面_074
	整本内页_页面_075
	整本内页_页面_076
	整本内页_页面_077
	整本内页_页面_078
	整本内页_页面_079
	整本内页_页面_080
	整本内页_页面_081
	整本内页_页面_082
	整本内页_页面_083
	整本内页_页面_084
	整本内页_页面_085
	整本内页_页面_086
	整本内页_页面_087
	整本内页_页面_088
	整本内页_页面_089
	整本内页_页面_090
	整本内页_页面_091
	整本内页_页面_092
	整本内页_页面_093
	整本内页_页面_094
	整本内页_页面_095
	整本内页_页面_096
	整本内页_页面_097
	整本内页_页面_098
	整本内页_页面_099
	整本内页_页面_100
	整本内页_页面_101
	整本内页_页面_102
	整本内页_页面_103
	整本内页_页面_104
	整本内页_页面_105
	整本内页_页面_106
	整本内页_页面_107
	整本内页_页面_108
	整本内页_页面_109
	整本内页_页面_110
	整本内页_页面_111
	整本内页_页面_112
	整本内页_页面_113

